

# Season 2010/11



# Manly Warringah District Cricket Club

133<sup>rd</sup> Annual Report & Balance Sheet

# Many thanks to our Club partners...







Support Sponsors



















Also Thanks to:

- Manly Council
- Warringah Council
- The Manly Daily
- Fairlight Gourmet Butcher & Cafe
- Isaacs Cole Chartered Accountants
- S-ense Landscapes
- Simon Couch Chiropractors
- Franks on Belgrave
- Pro-active Image
- True Blue Collectables
- Miramar Underwriting
- Metsign
- Silicon Beach Computers
- World Expeditions
- Sun Zapper
- Ian Bird Photography
- Waddington Consulting
- Vumbaca Bros



### MANLY-WARRINGAH DISTRICT CRICKET CLUB INCORPORATED

PLAYING GROUNDS – MANLY OVAL, LM GRAHAM RESERVE, MIKE PAWLEY OVAL

NOTICE IS HEREBY GIVEN THAT THE ONE HUNDRED AND THIRTY-FOURTH ANNUAL GENERAL MEETING OF THE MANLY-WARRINGAH DISTRICT CRICKET CLUB INCORPORATED, WILL BE HELD AT MANLY BOWLING CLUB, RAGLAN STREET, MANLY, ON SUNDAY, 24 JULY, 2011

- 1. To receive the Annual Report and Honorary Treasurer's Statement.
- 2. Election of office bearers and general committee as follows:-

President\*, Deputy President\*, Honorary Secretary\*, Honorary Assistant Secretary\*, Honorary Treasurer\*, Honorary Assistant Treasurer\*, General Committee

(Nominations for positions marked \* must be lodged with the Honorary Secretary by **17 July 2011)**.

- 3. Election of delegates to the Sydney Cricket Association (2) and New South Wales Cricket Association (1).
- 4. Nomination and election of Patrons.
- 5. To transact any business that may be brought forward in conformity with the constitution of the Club.

ROSS WIBLIN Honorary Secretary PO BOX 1239 Manly NSW 1655 Phone: 0431 500 676 email: honsec@manlycricket.com

Only financial members are eligible to vote.

#### SPECIAL ACKNOWLEDGMENT TO IAN BIRD PHOTOGRAPHY, FIONA LYON, SIMON LYON & VIJAY B SINGH FOR THE USE OF THEIR PHOTOGRAPHS THROUGHOUT THIS REPORT



### **OFFICE BEARERS**

#### PATRONS

Manly Mayor - Jean Hay, Mike Baird MP, Warringah Mayor - Mike Regan, Gary Flowers, Tim Bailey

#### HONORARY PRESIDENT

Andrew Fraser

#### HONORARY DEPUTY PRESIDENT

Simon Lyon

#### HONORARY SECRETARY

Ross Wiblin

#### ASSISTANT HONORARY SECRETARY

Joel Mason

#### HONORARY TREASURER

Fiona Lyon

#### ASSISTANT HONORARY TREASURER

Bruce Wickham

#### **GENERAL COMMITTEE**

David Gainsford, David Gardiner, Langdon Gould, Ben King, Doug McGrath, Bruce Wickham, Alan Wright

#### **SELECTION COMMITTEE**

Simon Lyon (Chairman) Adam Crosthwaite, Mitch Cleary, Craig Little, Joel Mason, David Farrell, David Gainsford

#### CLUB COACHES

Shawn Bradstreet, David Patterson

#### ASSISTANT COACHES

David Gardiner, Mike Pawley & Peter Philpott (Green Shield/Poidevin Gray Shield)

#### **DELEGATES TO SYDNEY CRICKET ASSOCIATION**

John Warn, Gary Flowers

#### DELEGATE TO NSWCA

**Gary Flowers** 



#### HONORARY LIFE MEMBERS

P Philpott OAM J Stewart M Pawley R Holmes F Turner B Kinsey T Spencer G Flowers G Fletcher D Patterson K Fitzpatrick J Warn B Rothwell S Mesite A Fraser R Brenner S Bradstreet G Beard

G Hill D Sellin M Elliot R Fry T Lee OAM G Rogers

#### HONORARY LIFE MEMBERS (DECEASED)

B Adrian	A Anderson	J W Burke	L W Gwynne
C B Cochrane	B C Cook	H M Dunlop	C H Hayes
C K Hayman	W Hoy	C A Laurence	W S Mitchell
R A Oxlade	G H Lowe	C Searle	L A Soman
R H Pitt	J F Hodgson	M Hayman	A Turner
J G Stephenson	E Robinson	T Brooks OAM	

#### HONORARY AUDITOR

David Gordon - GHR Accounting

#### HONORARY PRESIDENTS (12)

DATES	NAME	YEARS
1878-1896	Alfred Hilder	18
1897-1922	Dr David Thomas	26
1922-1955	Aubrey Oxlade CBE	33
1955-1966	George Lowe MBE	11
1966-1976	John Hodgson	10
1976-1980	John Stephenson	8
1980-1984	Barry Rothwell	4
1984-1991	Jim Stewart	8
1991-1999	Gary Flowers	8
1999-2000	Ron Holmes	1
2000-2004	Tim Farriss	4
2004-2011	Andrew Fraser	7*

#### EXECUTIVE ADMINISTRATION - THE LAST 10 YEARS

DATES 2001-2002 2002-2003 2003-2004 2004-2005 2005-2006 2006-2007 2007-2008 2008-2009	HON PRESIDENT T Farriss T Farriss T Farriss A Fraser A Fraser A Fraser A Fraser A Fraser A Fraser	HON SECRETARY R Brenner R Brenner R Brenner P Munting P Munting P Munting R Wiblin (Gen Mar)	HON TREASURER G Currie G Currie G Currie S Cleary M Kaye M Kaye F L von
2007-2008	A Fraser	P Munting	M Kaye
2008-2009	A Fraser	R Wiblin (Gen Mgr)	F Lyon
2009-2010	A Fraser	R Wiblin (Gen Mgr)	F Lyon
2010-2011	A Fraser	R Wiblin	F Lyon



### LIST OF NON-PLAYING MEMBERS

Michael Ashton Nathan Austin Sue Badyari David Baker Andrew Black Gary Blades John Borzi Grea Bover Andrew Bray Bob Brenner Matt Brown Simon Couch Errol Cranney Edward Chui Gordon Currie Dawes Andrew Robert Delmenico Nathan Dodd Edgell Marty Gill Elliot Mal Elliot Langdon Gould Steve Green

Ted

Alex

Alan

Graham Hamilton Kevin Ingram Mark Isaacs Anthony Jodrell Drew Johnson Kerrie Kerry Brian Kinsey John Lannen Simon Lightbody Lindsay Andrew Luxton Maidment McCorquodale Scott McLachlan Sam Mesite Eddie Meth Warren Miles Jodie O'Mullane Michael Osborne Brad Pamp Greg Pickering Tony Pitcher Pulsford Andrew

Tom Purcell Brian Roohan Roohan Mary Sean Rout Tom Spencer Stanley Mark Andrew Stewart Jim Stewart Matt Suttling Mick Trevaskis Turmanis Jamie Juris Turmanis Frank Turner Ken Turner Waddington Simon Webb Ross David Weston Mark Weston Mark Williams Ann Wilson Paul Wilson Craig Woolford Wyatt Russell Zimmerman Jamien

### **COMMITTEE MEMBERS' ATTENDANCE**

### DONATIONS

J Lannen **B** Barnes

## CLUB PERFORMANCES Last 15 Years (after home & away rounds)

	Club Championship	1 <sup>st</sup> Grade	2 <sup>nd</sup> Grade	3 <sup>rd</sup> Grade	4 <sup>th</sup> Grade	5 <sup>th</sup> Grade
2010-11	8	10	7	1	10	2
2009-10	3	5	7	3	7	12
2008-09	8	14	5	3	15	4
2007-08	15	18	11	12	16	7
2006-07	9	20	3	3	5	9
2005-06	1	2	6	4	8	20
2004-05	4	6	8	1	6	10
2003-04	12	12	8	10	6	9
2002-03	1	3	16	3	2	7
2001-02	5	18	2	4	2	10
2000-01	5	3	13	11	14	20
1999-00	1	3	3	10	3	2
1998-99	14	12	20	14	3	5
1997-98	11	4	17	8	12	10
1996-97	6	7	2	8	15	8

### PREMIERSHIPS

Club Championship	1976-77	1988-89	1999-00	2002-03	2005-06		
1 <sup>st</sup> Grade	1949-50	1957-58	1973-74	1988-89			
1 <sup>st</sup> Grade L/O	1974-75	2000-01	2005-06				
1 <sup>st</sup> Grade T20	2009-10						
2 <sup>nd</sup> Grade	1904-05	1989-90					
3 <sup>rd</sup> Grade	1902-03 <b>2010-11</b>	1920-21	1958-59	1969-70	1974-75	1987-88*	2004-05
4 <sup>th</sup> Grade	1972-73						
4 <sup>th</sup> Grade 5 <sup>th</sup> Grade	1972-73 <b>2010-11</b>						
		1955-56	1968-69	1977-78	1985-86		
5 <sup>th</sup> Grade Poidevin-Gray	2010-11	1955-56 1942-43	1968-69 1944-45	1977-78 1952-53	1985-86 1953-54	1959-60	1991-92
5 <sup>th</sup> Grade Poidevin-Gray Shield AW Green	<b>2010-11</b> 1949-50					1959-60	1991-92

To the Members and friends of Manly Warringah District Cricket Club Inc:

The Management Committee has pleasure in submitting for your consideration the 133rd Annual Report and Financial Statement.

The Club entered teams in the five Sydney Cricket Association Grade competitions: the First Grade Limited Over & Twenty20 Competitions, Poidevin Gray and AW Green Shield Competitions.

#### WOW!

Season 2010-2011 will be recorded as a 'watershed' year in the long annals of our great Club both on and off the cricket field; a year of new beginnings and of history being created; a year to be celebrated by all.

I cannot over-emphasise the rarity of achieving premiership success in Sydney grade cricket. Prior to last season, it is a fact that Manly-Warringah District Cricket Club teams had won a mere 18 titles across all grades during its entire 132 year history. A truly remarkable day, Sunday April 4<sup>th</sup> 2011 saw Dave Farrell's team capture our first ever 5<sup>th</sup> Grade Premiership and, combined with Craig Little's 3<sup>rd</sup> Grade side's triumph, the very first occasion that two Manly teams had secured premierships in the one season – phenomenal!

The celebrations that followed will live long in everyone's memory. Congratulations to both teams, particularly so to skippers 'Bumper' Farrell and 'Jeannie' Little, both local juniors and both passionate supporters of the Club and cricket in general. Testament to their outstanding leadership qualities, both also received 'Captain of the Year' awards for their respective competitions at the annual Sydney Cricket Association awards presentation dinner.

'Super Sunday' was notable for several other reasons. Firstly, it was particularly pleasing to witness the elation and satisfaction on the faces of so many loyal members of the Manly Cricket 'family' present, many of whom that have made huge contributions to the Club, some over a very long period. These premierships belong to, and mean as much to these people as anyone, and just reward for their energy and sacrifice. No need for names, but a need to recognise you all - and say thank you.

Secondly, the day appropriately marked the end to the playing days of two great Club stalwarts, Matt Cranney and Adam Parkinson. It was befitting that their contributions over the past 20 & 19 years respectively, finished on such a high note. It would be remiss of me not to also acknowledge the retirement of another long term servant of the Club, Jamie Sullivan, who with wife Jude, and new baby moved to the Central Coast during the season. The Club wishes all three best wishes for the future – you are now officially legends.

Two others to be suitably rewarded were Club coaches Shawn Bradstreet and David Patterson, whose excellent work with players across all grades certainly helped lay the platform for these victories. Also moving on next year, the Club greatly appreciates the guidance provided by these two passionate Manly boys over the past few seasons.

A major contributing factor to the 5<sup>th</sup> Grade premiership was the realisation of the countless hours of work put in by the likes of Mike Pawley and Doug McGrath, and more recently by David Gainsford, into successfully developing the talents of our District's junior cricketers by providing a clear pathway from Saturday morning cricket to Junior Reps, then from synthetic to turf cricket, and eventually on to Grade cricket.

With great thanks to Warringah Cricket Club, the 'missing link' between junior cricket and Grade cricket was addressed at the beginning of the 2010-11 season with the inclusion of a Warringah team in the Sydney-wide Tim Creer Cup, as well as a side in the local MWCA Saturday afternoon competition. This permitted many juniors the opportunity to further their skills playing in men's competitions, whilst in the case of the Tim Creer players, gaining experience playing on turf pitches. Many such players gained promotion to Warringah lower grade sides during the season, joining other junior rep players, in turn, pushing for selection in 5<sup>th</sup> Grade at Manly.

The influx of junior players at Warringah CC went a long way towards providing their best results for several years, with all lower grades playing semifinal cricket, a Frank Gray Shield (U/21) premiership victory, and a significant leap up the Club Championship table. I would like to take this opportunity to thank Warringah President, Rory Wightley, and his committee for their support, as well as MWJCA President, Rob McKenna and Junior Rep Chairman, Ross Trewartha. We also thank Mike Pawley and Doug McGrath for their vision and continued support, and many others who have helped along the way – Simon Lyon, David Gardiner, Bruce Wickham, Greg Boyer to name but a few. With moves afoot to further strengthen the ties for next season and beyond, it is important that we acknowledge the main catalyst behind the success of the 'pathway' – David Gainsford. For somebody who decided "to take a break from cricket" last season (poor Gina), a phenomenal effort 'Jughead'! You should feel very proud of your achievements, and again, the two premierships are as much yours as anyone else's.

The Club is served by an eclectic group of hardworking, loyal and passionate supporters – thus named 'the Committee'. Each and every member makes an outstanding effort, each and every year, in ensuring that the Manly-Warringah District Cricket Club not only maintains, but exceeds, its mantle as one of the leading clubs in Sydney Grade cricket. This year was no exception, with several individuals going far beyond any expectations.

Firstly, to Fiona Lyon, who rightfully was rewarded for her toil and enthusiasm over a number of years, in accepting the Keith Marks 'Clubman of the Year' award. Congratulations Fi!

Secondly, Joel Mason has quite simply been outstanding. His workload, as committee man, sponsorship manager, Gold Member manager, website manager.....somehow he also found time to be our 4<sup>th</sup> Grade skipper. Go figure. Thanks mate.

Thirdly, Ben King's initiative in creating what will become (I am sure) a long term relationship with Stewart House, proved to be a fantastic opportunity for our senior players to put something back into the wider community. We greatly look forward to furthering our support of this wonderful institution in coming seasons.

The Club is very mindful of the place we hold in the wider community. This season saw yet another successful T20 fundraising event hosted by the Club at Manly Oval, this time in conjunction with the Manly Warringah Sea Eagles, in support of the Queensland Flood Appeal. This evening came together in record time thanks to the wonderful efforts of Peter Peters and his staff, and our events guru Sean Rout. Many thanks to you all - we look forward to hopefully making this an annual event in future.

We are ever grateful for the fabulous support we receive from our local councils – sincere thanks to Manly mayor, Jean Hay, and her team; likewise to Warringah mayor, Michael Regan. Along with newly appointed NSW Treasurer, Mike Baird, we are indeed fortunate to count you as Club Patrons and great friends of Manly Cricket.

Our Club would not exist without the wonderful backing of our major sponsors, and we remain indebted to: Manly Bowling Club/Harbord Diggers/Mounties Group, Ann Wilson Funerals, TravelSim, BOQ Manly, Bray's IGA, Quest Grand Esplanade, Device Technologies, and Fairlight Gourmet Meats & Café. Thanks also to our many individual player sponsors. I would like to single out one new partner in particular - Amy Howard and her team at Vanilla Spin have been simply outstanding in setting up our new website, and happily responding to thousands of other requests from Joel Mason throughout the year. The new site is fantastic and a wonderful vehicle for the Club – congratulations to Maso and Jack Ritchie for providing such a professional asset.

Covered elsewhere by others in this report, I also would like to pay tribute to many other wonderful contributors to our great Club: Team Captains -Adam Crosthwaite, Mitch Cleary, Craig Little, Joel Mason & Dave Farrell; Scorers – Geoff Rogers, Gordon Currie & Don Sellin; Team Managers (and more) – David Gardiner & Alan Wright; Voluntary Ground Staff – Steve Cleary, Mal Elliott, Langdon Gould, Phil Munting & Ted Lindsay; "Clashes before the Ashes" co-ordinators – Tim Blank & Katinga Schroeder (truly sensational).

Signing off (for the moment), I would like to extend special thanks to all staff at CNSW for their guidance and support over the past number of seasons; in particular to Roy Formica – thanks mate.

I look forward to reacquainting myself with my family this year, but also hereby submit my application to become a fully-fledged member of the Manly Cricket mafia. See you all at Manly Oval.

Ross Wiblin Honorary Secretary

### 2010-11 MWDCC PRESIDENT'S REPORT

This is my 7<sup>th</sup> Annual President's Report and it is a pleasure penning it on the 2010-11 season. It always seems easier to write when you taste success!

However, I have to admit, after the final day of the preliminary rounds of the SCA Competition, I felt very disappointed and very flat. The 1s had just lost against lowly Wests and missed the finals. I then witnessed 2s cruelly lose on the last ball in a heartbreaking end to the season at Manly Oval, just missing the finals by 1 point. Then we dropped to 8<sup>th</sup> in the Club Championship standings, just 120 points from a top 3 finish. Many of us were gutted as it was a season that had promised so much.

The positives were that 3s and 5s had made the finals with 3s finishing as minor premiers and the Fifth grade squad finishing an incredible 2<sup>nd</sup> with a very young side. We then just hoped and prayed that one of these teams could find a way to win a premiership.

Quarter-finals time and a wet weekend prevented a ball from being bowled in either match. So both teams were through to the semi finals as the highest placed sides.

In the semi finals, 3s won a very tight match v Sutherland at Manly Oval and 5s batted out of their skin to score over 300 v Gordon, then rolled them cheaply. All of a sudden, two weeks later, and we had two teams in grand finals and a genuine shot at history.

I was no longer disappointed. I was no longer flat. I was pumped, but also trying to conceal my excitement at the thought of doing something our Club had never achieved in our history – we had never won a 5<sup>th</sup> grade premiership and incredibly, we had NEVER won two grade premierships in the same season. We came so close in 2002 when 2s and 4s lost very close grand finals. I was skipper of the 4s that year and I can tell you it was a horrible feeling of disappointment back at the Club, after we lost both grand finals. We were then unfairly labelled as 'finals chokers' by some clubs. I couldn't bear the thought of experiencing that feeling again.

So if you wondered why the 'Prez' was so edgy during Grand Final weekend, now you know why!

Then it happened – Sunday 3 April is a day many of us will never forget. First it was the mighty 3s who took the title at Manly Oval after batting for a monumental 133 overs after being sent in on a wet deck. Jeannie Little was finally rewarded for 3 years of hard toil. It was also a fitting farewell for "Parko" and "Loose" Cranney - both great mates, great Clubmen and both now MWDCC Premiership players. That victory by the 3s seemed easy, but it wasn't. They showed massive courage to firstly win their semi final, then the application shown by all the batsmen in the GF was just incredible. The statistical contributions in this match by Ryan Bonner, Scotty Patterson, 'Billy' Lindsay and Javed Badyari won't look like much on paper - but they were massive. A slow outfield, a wet deck and a very lively St George attack were what they had to overcome and they did so with aplomb. It was a well-deserved premiership for them. And didn't they love singing the victory song!

Then we all eagerly awaited the news, to see if 5s could hold on for our first ever premiership – I was getting ball by ball text messages as we counted down the tense final 10 overs of their grand final at Sydney Uni #1 v Easts. And they did it, largely courtesy of a breakthrough innings from Louis Anderson who batted for 90 minutes under the most intense pressure imaginable. They recorded history & Dave Farrell's boys won our first ever 5<sup>th</sup> grade comp and remarkably, with only one player aged over 19!

Wow, that win was just so significant in so many ways for 5ths. In 2006, for the second time in 6 seasons, we came dead last in 20<sup>th</sup> place in 5<sup>th</sup> grade. The reason for this? Simple, no home ground & no real focus on a junior development program. We had to address this. And we did!

Despite battling for 25 years to secure a home oval for 5s, the Club then pulled out all stops to ensure we expedited the construction of a home ground at Curl Curl – 2 years later, Mike Pawley Oval was opened. Then enter Dougy McGrath & Mick Pawley with the inception of the Manly Warringah Junior Academy. Its legacy has been continued by a wonderful team of people supporting Dougy and Mick since its inception.

So five years after we finished last, we win a premiership with many of the players in the 5ths a product of the Academy. Woo hoo!.....Manly had finally destroyed the choker's tag – I believe this season was a turning point in our Club's history.

Needless to say, the celebrations back at the Club were sensational.

The experienced boys in 3s were in fine form. As we all know, the shy boys in 5s don't have a habit of utilising the "showers" after a hot day in the field. But when it came to honouring the Manly tradition of a nude premiership lap of Manly Oval, I'm pleased to say that all of a sudden, they were not so shy & joined in the history. Even the Pommy 'Prowsey' joined in the action from the scoreboard end!

So from feeling very deflated after the last round of the season, I write this as one extremely proud President of a Club that has just created a part of history that many of us thought we may never get to see – thanks to the mighty wins by 3s and 5s!

As I said on the night of the GF – these premierships are a just reward for not only the players – but for everyone involved with the Club. The success has been a collective effort from the coaches, captains, players, managers, supporters, wives, girlfriends, parents and our administrators.

I would like to thank my Committee which has just been outstanding this season, namely Deputy President and Chairman of Selectors Simon 'Cliffy' Lyon, Treasurer Fiona Lyon, Hon Secretary Ross Wiblin, Dave Gainsford, Allan Wright, Dave Gardner, Ben King, Joel Mason, Doug McGrath, Bruce Wickham, Langdon Gould. A wonderful group of volunteers!

Ross and Kingy are stepping down, so I thank them for their toil over the past few years. Ross' contribution as the Club's Secretary over the past three years has been extraordinary and we will miss his input.

Speaking of great volunteers, our scorers Geoff Rogers, Gordon Currie & Donny Dollars, your efforts week in week out, year after year are amazing. Thanks guys!

I also want to make special mention of Tim Blank & Katinga Schroeder for their brilliant work on the inaugural MWDCC Business Lunch which raised over \$24k for our Club – what a mighty effort & I recommend everyone get there on Nov 11 for Luncheon # 2 – it will be bigger & better!

To our coaches Shawn Bradstreet & David Patterson – I felt the two lower grade premierships was a fitting reward for your great toil over the past 3 years – we will miss you guys, but please feel satisfied with your incredible contribution to MWDCC. Patto is off to Canada to live, so we wish him and his family well over there.

We welcome on board Dean Gilchrist as our new Club Coach. Dean is a Level 3 coach, brother of Adam, and will be a tremendous new asset for us next season. His Assistant is Brett Penprase who we also welcome on board.

To Jason Avedissian of the Manly Daily who has moved on. We thank 'Dizzy' for all his coverage over recent years and best wishes in your new role at News Ltd. Experienced journalist Jon Geddes is his replacement at the Daily.

To each of the Captains, thanks for the time you all allocated to your respective roles: Adam Crosthwaite (1s), Ben King/Mitch Cleary (2s), Joel Mason/Rowley Alexander (4s) & of course our Premiership Captains Craig 'Jeannie' Little (3s) & Dave Farrell (5s).

Jeannie and Dave fittingly won SCA Captain of the Year awards, so congratulations to them.

To Crossy, congrats to the 1<sup>st</sup> grade boys who were T-20 quarter finalists and 1<sup>st</sup> grade One Day grand finalists & with a little luck could have won that. Although I am sure the boys will be the first to admit that they probably 'under-achieved' this season. By now, everyone will be aware that Crossy has decided to pursue an opportunity in South Australia and he will be a big loss. But I'd like to thank him for his input as skipper over the past 2 years. He has brought a lot to our Club and was a very passionate player. I hope it works out for you over there mate.

Along with Crossy (SA), Jackson Bird (TAS) and Shane Cleary (WA) have also decided to seek opportunities interstate. All champion blokes, we will miss all three of them, as they made massive contributions last season. The Club wishes them all well in their quest to break into the First Class scene.

On the positive side, we welcome back Cameron Merchant from NZ and our two new recruits from Parramatta, Nick Watkins and Ben Martin. We have also recruited fast bowler Mitchell Coombes, an exciting young prospect from the Central Coast.

Congratulations also to Steve O'Keefe for being selected for Australia & also winning the Steve Waugh Medal as NSW's best and fairest player, voted on by his peers at the Blues – a monumental effort from arguably the most likeable and popular guy in NSW Cricket, and a just reward for his magnificent season.

Finally, thanks to John Warn & Gary Flowers, our NSWCA & SCA Delegates.

So now we hope to build on the success of this past season and add plenty more trophies to our growing list of Premierships. We all should feel so proud of what we have achieved this season. Thank you!

Cheers

"Frase"

# Players' party - October 2010





SCA Premiers' Dinner - May 2011



# Farewell to Crossy & Birdy - July 2011



# Ashes Businessman's Lunch - November 2010



### TREASURER'S REPORT YEAR ENDED 30<sup>th</sup> APRIL 2011

I have pleasure in presenting the Special Purpose Financial Report for the Manly Warringah District Cricket Club ("the Club").

Several key factors have enabled the Club to remain in a positive financial position this year, including the following:

- The continued support of all our sponsors;
- The support of all of our individual player sponsors – this year, 5 players across the grades were sponsored;
- The growth of the Gold Member scheme for non-playing members;
- The various grants provided to grade clubs by Cricket Australia and Cricket NSW;
- Last, but not least, the highly successful Ashes lunch at Cockle Bay Wharf in the city in November 2010 was our major fundraiser for the year. No doubt this has been mentioned elsewhere in the Annual Report but it was a huge boost to the Club's finances.

The Club has also continued to invest in the Club's players through the provision of quality coaching staff led by Shawn Bradstreet & David Patterson. The calibre of their coaching was evident in the 3<sup>rd</sup> & 5<sup>th</sup> grade premiership wins. I am certain their outstanding work will continue under the guidance of our new coaching team of Dean Gilchrist & Brett Penprase.

Each year, the balance of the cash at bank grows healthier. We now have significant funds in an interest-bearing account for the first time in the past few years (thanks to the Ashes lunch).

Net assets are also continuing to increase. All year-end creditors have been paid as at today's date; however, there are still outstanding debtors of \$19,290, of which \$16,500 relates to the Cricket Australia General Grant and \$300 in outstanding player fees.

Looking forward to the 2011/12 season, it would be of great benefit to the Club's financial position if everyone associated with the Club – sponsors, players, supporters, etc – continue to support the various fundraising initiatives held throughout the year. In particular, we would welcome your support at this year's lunch in the city in November 2011.

Many thanks to my Assistant Treasurer, Bruce – it was his first year in the role and I really appreciated his assistance & support throughout the year. I would also like to thank all of my helpers in the canteen – I could not do this other role without your help in collecting rolls from the bakery, chopping watermelons, dissecting roast chickens, driving me to pick up supplies (or to take me to away games) or looking after the canteen when I am getting fresh stuff for lunch or tea or simply having a weekend away! Also, many thanks to those of you who kept me informed regularly via sms for the four days of the last two games of the season when I was not at Manly Oval.

Finally, I just wanted to take this opportunity to thank you all again for bestowing the Club's greatest honour on me at the presentation night in April. The Keith Marks Memorial Trophy is such a prestigious award and, as I said in my email to you all the following day (having been rendered speechless on the night!), it is the biggest honour I have received in my life.



FIONA LYON Honorary Treasurer MWDCC 16 July 2011

#### MANLY WARRINGAH DISTRICT CRICKET CLUB SPECIAL PURPOSE FINANCIAL REPORT STATEMENT OF ACCOUNTING POLICIES

#### (a) Basis of Accounting

This financial report is a special purpose financial report prepared in order to satisfy the financial reporting requirements of the Associations Incorporation Act (NSW). The committee has determined that the Club is not a reporting entity.

The financial report has been prepared in accordance with the requirements of the following Australian Accounting Standards:

AASB 1031: Materiality AAS8 110: Events Occurring After Reporting Date

No other Australian Accounting Standards, Urgent Issues Group Consensus Views or other authoritative pronouncements of the Australian Accounting Standards Board have been applied.

The financial report is also prepared on an accruals basis and is based on historic costs and does not take into account changing money values or, except where specifically stated, current valuations of non-current assets.

The following material accounting policies, which are consistent with the previous period unless otherwise stated, have been adopted in the preparation of this financial report.

#### (b) <u>Clubhouse equipment</u>

Clubhouse equipment is primarily made up of covers, nets, bowling machines, together with improvements to the RATT at Manly Oval which are included at cost. They are depreciated at a rate estimated to write off the cost of those assets over their estimated useful life. Items of equipment such as balls are expensed in the year of purchase.

#### (c) Inventories

Inventories are valued at the lower of cost and net realisable value. Inventories are primarily made up of shirts, caps and other miscellaneous items.

#### (d) Leasehold improvements

There were no further costs incurred this year by Manly Warringah District Cricket Club and Warringah Cricket Club on the upgrade of the facilities at Mike Pawley Oval.

#### MANLY WARRINGAH DISTRICT CRICKET CLUB SPECIAL PURPOSE FINANCIAL REPORT AUDITED PROFIT & LOSS ACCOUNT YEAR ENDED 30TH APRIL 2011

	THIS YEAR	LAST YEAR
Income		
Playing fees	17,320	19,515
Gold Members fees	4,170	6,090
Sponsorship	41,000	57,432
Individual player sponsors	5,000	4,091
Grants – Cricket Australia & Cricket NSW	43,800	42,500
Other income – Ashes fundraising lunch	24,402	0
Other income – women's cricket at Manly Oval Other income – celebrity Twenty20 matches	0 0	1,794 1,171
Other income	2,250	2,100
Net income from canteen & RATT	2,469	2,100
Donations	425	430
Interest Received	1,328	27
	142,164	136,015
Expanses		
Expenses		
Opening inventory	3,304	5,000
Equipment	10,624	8,651
Closing inventory	(2,750)	(3,304)
	11,178	10,347
Bank charges	443	319
Bus trips to away games	0	155
Coaching expenses	32,000	37,000
Clothing purchases	16,521 3,620	20,193 3,875
Depreciation on clubhouse equipment Depreciation on leasehold improvements	466	466
General Manager costs	400	17,455
Ground expenses	1,100	1,789
Hiring costs	6,678	4,595
Insurance claims	150	1,500
Maintenance & ground fees	14,525	13,173
Marketing functions	2,395	1,714
Miscellaneous expenses	2,530	1,274
Player expenses – Team Pursuit & gym fees	2,277	1,080
Printing	2,184	1,645
Repairs & cleaning	1,490	1,667
Team expenses	486	0
Trophies, awards, presentations	5,153	174
Twenty20 expenses (from 3 grade matches)	<u>3,682</u> 106,878	<u>2,258</u> 120,679
-	100,070	120,079
Profit	35,286	15,336

#### MANLY WARRINGAH DISTRICT CRICKET CLUB SPECIAL PURPOSE FINANCIAL REPORT BALANCE SHEET AS AT 30TH APRIL 2011

	THIS YEAR	LAST YEAR
CURRENT ASSETS		
CORRENT ASSETS		
Cash on Deposit	1,546	1,516
Cash at Bank – MWDCC bank accounts	68,727	25,662
Cash at Bank – MWDCC Women's Cricket account	994	994
Trade Debtors – MWDCC	26,880	41,655
Stock on Hand	2,750	3,304
GST	5,136	7,717
	106,033	80,848
NON CURRENT ASSETS		
	57.004	50.047
Clubhouse Equipment	57,631	53,647
Accumulated Depreciation	(42,934)	(39,314)
Leasehold Improvements	18,641	18,641
Accumulated Depreciation	(1,386) 31,952	<u>(920)</u> 32,054
	31,952	52,054
Total Assets	137,985	112,902
CURRENT LIABILITIES		
Trade Creditors	12,432	25,635
Accruals	3,000	23,033
Accidats	15,432	25,635
	10,402	20,000
Total Liabilities	15,432	25,635
Net Assets	122,553	87,267
CAPITAL AND RESERVES		
Members Funds	87,267	71,931
Net Profit	35,286	15,336
	122,553	87,267
	. 22,000	0.,201

### **MWDCC PLAYERS TO HAVE PLAYED TEST / NSW CRICKET**

#### **TEST PLAYERS**

#### **FIRST CLASS**

	Australia	NSW	Name	Debut
1	S M J Woods	118	P C Charlton	21/12/1888
2	P C Charlton	161	F M Ridge	14/12/1895
3	R B Minnett	216	W R McIntyre	15/12/1905
		217	F S Middleton	15/12/1905
4	J M Gregory	223 233	H Whiddon J E Hodgkinson	06/12/1907 12/12/1908
5	A A Mailey	243	R V Minnett	11/12/1909
6	K R Miller	244	J A Randell	11/12/1909
		267	A A Mailey	08/11/1912
7	R A Saggers	278	E A Bull	06/02/1914
8	J W Burke	304	J M Gregory	19/11/1920
9	G F Rorke	326 328	R A Bubb L W Gwynne	22/11/1924
		344	F S Cummins	22/11/1924 26/12/1925
10	P I Philpott	438	R A Saggers	13/01/1940
11	G Thomas	441	B A Cook	15/11/1940
12	P M Toohey	442	V Trumper (Jnr)	15/12/1940
	•	464	T F Brooks	01/01/1947
13	K J Wright	467	K R Miller	24/10/1947
14	G R Beard	471	A K Walker	26/11/1948
15	M G Bevan	472 497	J W Burke P I Philpott	10/12/1948 01/01/1955
		507	G F Rorke	22/11/1957
16	G R Robertson	508	G Thomas	22/11/1957
17	P Wilson	515	R S Taylor	29/01/1960
18	S Clark	521	T H Lee	29/12/1962
10	e claix	525	B A Rothwell	01/01/1964
	Frankand	551	M B Pawley	08/11/1969
	England	569	P M Toohey	25/10/1974
1	C W J Athey	571 602	G R Beard M D O'Neill	14/11/1975 22/10/1982
	·	612	P H Marks	17/02/1984
2	P Jarvis	626	G R Robertson	12/02/1988
3	D V Lawrence	631	S B J Whitfield	09/02/1989
4	J E R Gallian	636	M G Bevan	16/11/1990
4	5 E I Calilan	649	C A Glassock	02/11/1994
		667	M J Phelps	20/10/1998
	West Indies	670 678	S D Bradstreet	11/12/1998
1		678 691	J M Heath M A Cameron	17/12/1999 23/01/2003
1	A L Kallicharran	001	S N J O'Keefe	18/11/2005
			T Cruickshank	29/10/2010
	T20 INTERNATIONAL			

1 S N J O'Keefe (Aust)

#### **Test Umpires**

1 T F Brooks OAM 24 Tests 15 Internationals 38 Sheffield Shield 18 County

### New Zealand (Northern Districts)

216	C J N Merchant	06/03/2008
216	C J N Merchant	06/03/2008

# **MWDCC MAJOR AWARD WINNERS FOR 2010/11**

1 <sup>st</sup> Grade:	Batting: Tim Cruickshank Bowling: James Munting
2 <sup>nd</sup> Grade:	Batting: Ben King Bowling: Matt Mee
3 <sup>rd</sup> Grade:	Batting: Matt Cranney Bowling: Craig Little
4 <sup>th</sup> Grade:	Batting: Rowley Alexander Bowling: Luke Grant
5 <sup>th</sup> Grade:	Batting: Louis Anderson Bowling: David Farrell
Poidevin-Gray:	Batting: Logan Weston Bowling: Matt Mee
AW Green Shield:	Batting: Sam Hole Bowling: Tom Kaye
Captain of the Year:	Craig Little / David Farrell
Players' Player:	Matt Mee
Most Dismissals by WK:	Adam Crosthwaite
Most Catches:	Mitch Cleary
Junior Player of year:	Sam Webber
Senior Player of year:	Tim Cruickshank / Shane Cleary
Don Sellin Award:	Michael Visser
Langdon Gould Scholarship:	Sam Hole
President's Award:	Jackson Bird
Gary Flowers Most Improved Player:	Matt Alexander
Keith Marks Memorial Trophy	Fiendlym

Fiona Lyon



(Clubman of Year):



Michael Visser

Sam Hole

Matt Alexander

# **MWDCC REPRESENTATIVE PLAYERS 2010/11**

Australia	Stephen O'Keefe (T20)
Australia 'A'	Stephen O'Keefe
NSW	Stephen O'Keefe, Tim Cruickshank
NSW 2 <sup>nd</sup> XI	Adam Crosthwaite, Tim Cruickshank, Jackson Bird
NSW Futures League	Corrie Boss, Stephen O'Keefe
NSW Futures League T20	Corrie Boss, Tim Cruickshank
Combined Green Shield 2 <sup>nd</sup> XI	Sam Hole
NSW U/19 Squad	Dylan Marshall
NSW U/17 Squad	Mickey Edwards
U/16 City Emerging Blues Squad	Sam Hole, James Boyer
U/15 City Emerging Blues Squad	Sam Gainsford, Matthew Levine
U/14 City N-W Emerging Blues Squad	Jake Carden, Nick Hidas

'Vanilla Spin have always delivered excellent creative designs on time and within budget.With staff that have a "nothing is too much trouble" attitude, they are a dream to work with and make our jobs so much easier. It is a pleasure to work with such a creative team.'

Margaret Miller, Director - Logical Retail Solutions



### DESIGN • PRINT • WEBSITES vanillaspin.com

### drop in a for a cuppa unit 17/177-199 pacific hwy north sydney or call 02 9460 0600

### **MWDCC CHAMPAGNE CRICKETERS 2010/11**

#### BATTING

Adam Crosthwaite Tim Cruickshank

Ben Davis Ben King Mitch Cleary Matt Cranney

Rowley Alexander Andrew Lindsay Ed Burgess Logan Weston 120\* First Grade
105 First Grade
202 First Grade
212\* First Grade
118\* Second Grade
101\* Second Grade
107\* Third Grade
107\* Third Grade
122\* Fourth Grade
119 Fifth Grade
108\* Fifth Grade
123 PG's



Ben Davis after his Double Hundred

#### BOWLING

Jackson Bird

Shane Cleary

James Munting Dylan Marshall

Matt Mee Aidan Baker Craig Little

Adam Parkinson Mick Visser Reece Hodge Luke Grant Max Burgess Arshdeep Virdi Cameron Ashe

5/95 First Grade 5/42 First Grade 6/19 First Grade LO QF 5/46 First Grade 5/63 First Grade 8/29 First Grade 5/60 Second Grade 5/90 Second Grade 5/43 PG's 5/33 Second Grade 5/30 Second Grade 5/33 Third Grade 5/34 Third Grade 6/31 Third Grade 5/54 Fourth Grade 5/32 Fourth Grade 5/23 Fourth Grade 5/51 Fourth Grade 6/20 Fifth Grade 5/73 Fifth Grade Grand Final



Ryan Bonner celebrates 2,000 runs

### **MWDCC MILESTONES 2010/11**

#### 1<sup>st</sup> GRADE

Tim Cruickshank Mitch Cleary Justin Cox Adam Crosthwaite Nat Hill Ben Davis Shane Cleary James Munting Jackson Bird  $1^{st}$  Grade runs & Maiden 200  $1^{st}$  Grade runs  $1^{st}$  Grade runs  $1^{st}$  Grade runs  $1^{st}$  Grade runs Maiden  $1^{st}$  Grade 100 & Maiden 200  $1^{st}$  Grade wickets  $1^{st}$  Grade wickets Maiden  $1^{st}$  Grade 5 wkt / inn

#### ALL GRADES

Matt Cranney	6000 runs
Rowley Alexander	4000 runs
Justin Cox	4000 runs
Joel Mason	4000 runs
Adam Parkinson	4000 runs
Jamie Sullivan	4000 runs
Mitch Cleary	3000 runs
Ryan Bonner	2000 runs
Adam Crosthwaite	1000 runs
Adam Gummer	1000 runs
Lance Stewart	1000 runs
Ed Burgess	Maiden Ce
Shane Cleary	300 wicket
Craig Little	200 wicket
James Munting	200 wicket
Adam Parkinson	200 wicket
Cameron Ashe	Maiden 5 v
Max Burgess	Maiden 5 v

Maiden Century 300 wickets 200 wickets 200 wickets 200 wickets Maiden 5 wkt / Inn Maiden 5 wkt / Inn

#### Matt Cranney

Luke Grant

Matt Mee

Reece Hodge

Arshdeep Virdi

250 catches



Matt Mee with the "5-for" ball

First Grade Bowling Award – James Munting



# **MWDCC TOP 10 LEADING AVERAGES 2010/11**

I	<u>Player</u>	<u>Mat</u>	<u>Inn</u>	<u>NO</u>	<u>100s</u>	<u>50s</u>	<u>HS</u>	<u>Runs</u>	<u>Ave.</u>
1	Scott Patterson	13	10	2	0	4	96	385	48.13
2	Andrew Lindsay	12	9	1	1	2	119	364	45.50
3	Matthew Cranney	15	16	3	2	3	118	584	44.92
4	Rowley Alexander	8	8	1	1	1	122*	303	43.29
5	Tim Cruickshank	24	26	3	2	6	203	942	40.96
6	Adam Crosthwaite	25	26	2	1	8	120*	875	36.46
7	Luke Edgell	22	17	7	0	2	60	352	35.20
8	Adam Gummer	16	17	4	0	3	75*	451	34.70
9	Jamie Sullivan	8	10	1	0	2	56*	301	33.44
10	Justin Cox	12	11	0	0	1	92	365	33.18

## Batting (minimum 300 runs)

## Bowling (minimum 20 wickets)

	<u>Player</u>	<u>Mat</u>	<u>0</u>	M	<u>R</u>	<u>W</u>	<u>Ave.</u>	<u>5Wi</u>	BBI
1	David Farrell	14	138.3	36	350	34	10.29	0	4/9
2	Craig Little	16	186.1	39	549	41	13.39	2	5/33
3	Arshdeep Virdi	14	147.3	37	418	29	14.41	1	6/20
4	Max Burgess	14	133.1	20	369	25	14.76	1	5/51
5	Matthew Mee	14	111.1	19	339	22	15.41	1	5/33
6	Adam Parkinson	14	148	30	434	26	16.69	1	6/31
7	Luke Grant	14	106.1	21	336	20	16.80	1	5/23
8	Cameron Ashe	14	144.1	23	521	31	16.81	1	5/73
9	James Munting	24	207.1	34	709	42	16.88	1	8/29
10	Shane Cleary	24	222.4	32	941	53	17.75	2	5/46

### CLUB COACHES' REPORT 2010/11

The 2010-11 season will be one that will be long remembered for all those involved. Two premierships and a whisker off a third are a credit to everyone involved players, committee, supporters and their families.

From a coaching perspective many players took a giant stride forward this season through their dedicated approach at both practice and in the matches. This was reflected in their individual performances and their progression through the grades. One of the great rewards in coaching is seeing players work hard to improve and then execute skills to a higher level under pressure in match situations.

There were so many examples right through the club this season, Nat Hill in the one day final, James Boyer, Jarrod Rawlings and James Ritchie in the 5<sup>th</sup> grade final, James Munting V Penrith, the young 2<sup>nd</sup> grade quicks (Matt Mee, Micky Visser & Matt Alexander), Reece Hodge and Adam Gummer starting in 5ths and ending up in a 3<sup>rd</sup> grade premiership team, Javed Badyari batting for 5 hours in the  $3^{rd}$  grade final, Tom Kaye's batting and run out V Gordon in the  $5^{th}$  grade semi, Tim Cruickshank and Ben Davis scoring double centuries, Jackson Bird and Shane Cleary both topping 50 wickets, Arshdeep Virdi v Hawkesbury. Mitchell Pugh turning himself into an allrounder, Dylan Marshall making his 1<sup>st</sup> grade debut and being selected in the NSW U19 squad, Mickey Edwards selection in the NSW U/17 Squad for 2011-12, Sam Webber's keeping in 2<sup>nd</sup> grade.

Good practice facilities are a key to the club doing well and having 4 turf nets available at Manly Oval made for good practice, as did having the best synthetic nets in NSW at the Sydney Academy of Sport at Narrabeen as an alternative venue. Wet weather hampered us throughout the season, but the players got on with the job without complaint even when the rain made our practices less than ideal on many occasions.

Thanks to Gene Ngamu and Tom Kelly for their efforts this season with the practice pitches at Manly Oval.

As club coaches, we could not have achieved what we did without the support of many people. Alan Wright was magnificent as Practice Captain, always first there to set up the nets and ensure practice ran smoothly so we could focus more on coaching rather than organisation. Thanks to Geoff Rogers for filling in at short notice when work commitments prevented Alan getting to practice. David Gardner was a great assistance with his work around the group, both one on one and in small groups. The captains also were terrific at practice in driving their players to achieve excellence. They should all be proud of their efforts, especially Craig Little and Dave Farrell who were so deservedly rewarded with premierships. Thanks also to many of 1st grade players who set up and ran fielding drills with the younger players in the lower grades.

The support of the committee was greatly appreciated. Andrew Fraser, Ross Wiblin, Simon Lyon were always there to provide us help when needed. Cliffy you did a sterling job as Chairman of Selectors and should get your "hands dirty" at practice more often. You have a lot to offer. Fiona, you were a gem every Saturday at Manly Oval.

Thanks also to Cricket NSW for their "Coach Support Unit" which helped add expertise and variety to our practices. The massage therapists were "gold" towards the end of the season when many players (especially the fast bowlers) needed help with their niggles.

As you know this is our last season of coaching. The last 3 years have been great fun and created and consolidated many friendships. Our final memory of the celebrations that Sunday evening at Manly Oval will be a special and enduring one for many years to come.



Patto & Wing

#### PLAYER REPORTS

#### Adam Crosthwaite

Crossy led from the front with passion. Not only the best keeper in the comp but one of the best batsmen. Reaped the rewards for some hard off season work on his batting, dominating in 2<sup>nd</sup> XI matches for NSW. Tremendous aggressive captaincy. Deserves to be playing first class cricket somewhere in 2011-12.

#### Ben Davis

Ben was a terrific acquisition for the club. Fitted in seamlessly to the Manly culture. A high class bat as shown by his double hundred v Campbelltown. Knows how to convert starts. His key next season will be to get "in" more often. His off spinners were handy, especially in the one dayers and T20.

#### Tim Cruickshank

Once again one of the top 2 batsmen in grade cricket (along with Greg Mail). A high quality player who has expanded his game over the past 12 months, developing the ability to play much softer. A great offsider to Crossy with his experience. Deservedly selected for NSW. Ready for the next level.

#### Stephen O'Keefe

Every team needs a SOK. Always wanted to play for Manly at every opportunity, a trait not found in all first class players. His selection for Australia and winning the Steve Waugh Medal were a fitting reward for a decade of hard work building his game. A future NSW captain.

#### Nat Hill

You would drive many a mile to watch Nat Hill hit a cover drive. Produced his best performances on the big occasions, a sign of a quality player. A few areas to tinker with, combined with getting the work/practice balance right, will see Nat be one of the handful of best players in the comp. A brilliant fielder anywhere.

#### Ben King

For the second year in a row Ben showed he is too good for  $2^{nd}$  grade, and rightfully cemented his position in 1st grade. Quality innings v Gordon and Sydney will give Kingy the confidence to kick onto bigger and better things in  $1^{st}$  grade. A good tactical sounding board in the dressing room.

#### Luke Edgell

Bomber worked as hard as anybody in the club to improve his game and made himself a regular 1st grader. Batted brilliantly with the tail. A resulting batting just below 40 is the sign of better things to come. Will be pushing for a higher spot in the order next season and to establish himself as a genuine 1<sup>st</sup> grade all rounder.

#### Jack Ritchie

Made the opening spot his own and forged a good partnership with Ben Davis. Has the temperament to be a leading opening batsman for many years. Some good off season work on expanding his stroke range will see Jack reap the rewards. Has made himself a very good one day and T20 spinner and a quality slip fielder.

#### **James Munting**

One practice session just before Christmas was the turning point. Munta got his seam sorted and never looked back. 29 wickets at 12 followed with his 12 wickets V Penrith the best by anyone in the 1<sup>st</sup> grade comp in nearly a decade. His genuine swing bowling will be a handful for opposition teams next season. Worked hard on his batting with promising progress.

#### **Corrie Boss**

Selection in the NSW Futures League Team was a just reward for Bossy terrific work ethic and commitment up and down the F3 freeway. His swing and reverse swing bowling and variations were progressing well before his ankle gave way. With his ankle operation he will be a new man in 2011-12. Showed his great club spirit by finishing the season as a batsman in 4<sup>th</sup> grade when many others would have looked for the exit.

#### Jackson Bird

Genuine outswingers and bounce at pace is what gets good players out and Birdy knocked over 54 of them this season. Once he straightened up his run up and lines early in the season nothing was going to hold him back. Hopefully will be knocking over 1st class players next season.

#### Shane Cleary

Shane came of age as a 1<sup>st</sup> grade quick this season, stepping up to the plate once we lost Billy Lindsay. 53 wickets was brilliant. Swung the ball at good speed and was always willing to do the dirty work for his skipper. A better team man has never played the game. Hopefully Perth will bring Shane fulfilment both on and off the cricket field.

#### Mitch Cleary

Beaver always had the natural skills, but 2010-11 was a breakthrough year for the mental and tactical sides of his game. 630 runs across 1<sup>st</sup> and

 $2^{nd}$  grade were testament to the work he put in on these sides of his game. Still the best fielder in the club and showed tremendous leadership qualities in taking  $2^{nd}$  grade from nowhere to the brink of finals cricket.

#### **Cameron Merchant**

We didn't see much of Napper, but he always wanted to play for the Manly boys whenever his commitments with Wellington allowed.

#### Andrew Jeffrey

After missing out on 1<sup>st</sup> grade selection, AJ struggled in 2nd grade for most of the season. But he showed at the back end of season with his innings v Bankstown and Western Suburbs, he is still a quality player at the top of the order. Through all his disappointments he never lost that sense of humour that every team needs.

#### Aidan Baker

We missed Bakes for the first part of the season after he came off 2<sup>nd</sup> best playing rugby, but he worked his way back to finish strongly in 2<sup>nd</sup> grade with wickets and runs. Another super clubman who put a lot of time into helping the Manly junior reps this season.

#### Logan Weston

After starting strongly in 3<sup>rd</sup> grade, Logan had an opportunity at the top of the 2<sup>nd</sup> grade order after Christmas. Whilst not experiencing the success he would have desired, it was nevertheless a terrific learning experience for him. Hopefully an off season in England will see him become a better player to take up the challenges of higher grade cricket.

#### Jamie Sullivan

What do you say when a club legend retires? Over 4000 runs & 150 wickets, mostly in 1<sup>st</sup> grade. It's been a pleasure Sully. All the best to you, Jude and the family for your new life on the Central Coast and pity the local bowlers who are going to be in for a hiding or two.

#### Justin Cox

Coxy had an up and down season as he wrestled with balancing cricket with setting up his career. Still managed to average close to 50 in  $2^{nd}$  grade with limited practice. Still has a lot of  $1^{st}$  grade runs in him and his fielding was brilliant as always.

#### **Jarrod Walter**

After a wretched 2009-10 season which saw him play a lot of 5<sup>th</sup> grade, Jarrod worked hard to get

back into the higher grades this season, establishing himself with series of consistent performances in the  $2^{nd}$  grade middle order. Including PG's scored over 450 runs, a number which will grow as he establishes himself higher in the  $2^{nd}$  grade batting order. Mentally strong and knows his game.

#### Matt Mee

When you practice with the commitment such as Matty has, only good things can happen. His bowling numbers were phenomenal and only a late season injury thwarted his push for 1<sup>st</sup> grade. With some off season technical adjustments, will come back better than ever in 2011-12. His batting shows enormous potential as well.

#### Sam Webber

Another of the young brigade who came on in leaps and bounds this season. Drilled diligently every practice session, honing his skills. The leading wicketkeeper in the 2<sup>nd</sup> grade competition with 32 dismissals. You could see his confidence grow with every match. His legside stumping off Dylan last round was brilliant. Ready to step into Crossy's shoes when the opportunity arises.

#### **Dylan Marshall**

Cricket Australia led the voices asking young spinners to "spin hard and spin up". Dylan does both brilliantly. The shape he gets on the ball is similar to Jason Krejza at the same age. With a continued excellent work ethic, more experience and being less hard on himself he will flourish. Got a lot to offer with the bat too. Deservedly selected in the NSW Under 19 squad for 2011-12.

#### Matt Alexander

Matt established himself in 2<sup>nd</sup> grade with a series of fine bowling performances. A genuine swinger of the ball. As he gets meaner with the ball in his hand and improves his bouncer this swing will become a greater weapon. Can hit the ball as far as anyone on his day (ask Adam Zampa!). A genuine all rounder in the making as he learns how to construct an innings.

#### Michael Visser

Micky started in 4ths and finished as a key part of the 2<sup>nd</sup> grade attack, a fine reward for his dedicated approach. His good seam allows him to swing the ball both ways and he is always looking to expand his skills. His death bowling came on brilliantly.

#### **Dave Poskitt**

Nelly once again led the 2<sup>nd</sup> grade bowling attack with gusto. Pushed through the pain barrier with his shin splints many times without complaint. His key is to get his front arm and left side strong through the crease. Once he can consistently achieve this he'll be a very good 1<sup>st</sup> grade bowler.

#### **Ryan Bonnor**

Whilst probably not enjoying the personal success he would have liked, Ryan was an integral part of the  $3^{rd}$  grade premiership. One of the most pleasing aspects of the season was his blossoming leadership and tactical skills, both at  $2^{nd}$  and  $3^{rd}$  grade level.

#### **Craig Little**

A great leader of men, there could be no more fitting reward for "Jeannie" than the 3<sup>rd</sup> grade premiership. The best bowler in the comp, he never let his personal batting woes affect the team. His meticulous planning and understanding of team dynamics were the background behind his team's success.

#### Luke Mannell

Mezza is a captain/coaches dream. Never complains, just gets on with the business. As he straightened out his gather to the crease he developed a Trent Copeland like consistently. His bowling in the semi final was nothing short of amazing under immense pressure.

#### Javed Badyari

Javed is technically gifted with both bat and ball. Combined with his great cricket brain anything is possible. As his self belief grows Javed will soar. Hopefully his innings in the 3<sup>rd</sup> grade final v Phil Alley will kick start that belief.

#### Matt Cranney and Adam Parkinson

Loose and Inzy both richly deserved to finish with a 3<sup>rd</sup> grade premiership, a just reward for their incredible service to the club. Not only will they leave with the fond memories of their final season, but also in the satisfaction of having contributed much to the development of the next generation of 1<sup>st</sup> grade cricketers who have had the benefit of their wisdom and support.

#### Andrew Lindsay

Another great clubman. After 100 1<sup>st</sup> grade wickets over the previous 2 seasons, Billy's shoulder packed it in. Unable to bowl, he set about making himself a batsman. Started with a century in 5ths and finished up playing a match

winning 3 hour half century in the 3<sup>rd</sup> grade final. All up 360 runs, averaging over 50 and a new part to his game once his bowling career resumes.

#### Ian Prowse

Prowsy broke the mould of most Poms and joined James Pipe and Bill Athey as becoming true Manly men. Although mainly viewed as a classy bat, the most pleasing aspect of his season was how hard and intelligently he worked on coming back from injury with his bowling. His and the 3<sup>rd</sup> grade teams reward was his performance with the ball in the semi final win over Sutherland.

#### Scott Patterson

Scott was consistent all season, but really stepped up to the plate in the big matches at season's end. Was brilliant in both the semi final and final. Technically he has improved greatly, having the ability now to play "much softer". Scott should now be aiming to get back to 1<sup>st</sup> grade where he was as a 17 year old. Quite simply he is too good for 3<sup>rd</sup> grade.

#### Nick McLachlan

Nick may be somewhat disappointed with his season after starting in 2<sup>nd</sup> grade. However a 3<sup>rd</sup> grade premiership and 32 wickets at 19 still reads pretty well. Continued work on his batting paid handsome dividends in the 3<sup>rd</sup> grade final. Nick's key to moving forward is seeing the glass as half full rather than half empty.

#### Adam Gummer

Adam started in 5<sup>th</sup> grade and finished up with 549 runs and a 3<sup>rd</sup> grade premiership. What a great season! Exhibits a tremendous ability to bat for long periods of time, a trait not seen in many young players today. As he expands his scoring options, Adam will become a terrific higher grade player.

#### **Reece Hodge**

Reece started in 5<sup>th</sup> grade and finished up with a 3<sup>rd</sup> grade premiership, a great initial season in grade cricket. A very promising young bowler who swings the ball out at good pace. Always wanting to learn, always putting in the extra yards at practice. Higher grades await.

#### Joel Mason

Joel led the 4<sup>th</sup> grade team with distinction, a difficult role considering the constantly changing dynamic of the team. His batting at the top of the order was solid all season. A great club man who did an enormous amount of work behind the scenes that few realise.

#### **Dean Readett**

After an excellent start, Dean batted consistently all season without very making that big score that he threatened to do on a number of occasions. His key next season is to develop an iron clad batting routine so that he converts these starts into big scores. His bowling developed well throughout the season as a result of persistent practice on building his skills.

#### **Ben Stinson**

Ben was solid behind the stumps all season. Although his work hours prevented him from practicing, he gave his all each weekend and was a great support to Joel Mason.

#### Lance Stewart

Lance should be aiming for a top 5 batting position next season. His skill and performances with the bat justifies this. With continued work on his wrist position, he will develop the ability to swing the ball both ways. He showed promising signs in the respect towards the end of the season.

#### Max Burgess

Max rebounded strongly from an initial disappointing grading. 25 wickets at 14.8 was well deserved. Put his personal disappointments aside to provide terrific support to both Joel and Dave Farrell, taking a leadership role with the younger players. Brilliant as club captain. Keep seeing the glass as half full Max.

#### **Rowley Alexander**

Injury cut short Rowley's season but what we did see was all class. His innings V Hawkesbury was a pleasure to watch & a great learning experience for youngsters who saw him bat that day. Fulfilled a terrific mentor role with the young batsmen in the lower grades. Please play again next season Rowley, you still have so much to offer.

#### Luke Grant

Luke showed great grit and determination all season. One of quiet achievers, he worked hard and established himself as an integral part of the 4<sup>th</sup> grade attack. Better results will come as his variations and game sense improve. Need to keep working hard on developing his batting as he is are better than his stats show.

#### Vinod Rehaan

Vinnie always played with great passion and a smile on his face. Led a 4<sup>th</sup> grade attack for most of the season that was always short on runs.

Eventually work and family commitments took their toll on his cricket. The best cab driver on the northern beaches.

#### **Michael Cosentino**

Cossa struggled with motivation in his comeback and despite showing glimpses of his old self never got going. Eventually gave it away after Round 11.

#### Luke Cameron

Sarge had a season he would rather forget and gave it away after Christmas. The harder he tried the worse he got. If Sarge makes a comeback, his key is relax, forget the scorebook and just bat. Just let your talent express itself.

#### Jarrod Baker

Jarrod struggled all season. Rarely practiced due to his work commitments and this showed on the weekends. It eventually all caught up with him after Christmas.

#### **Ryan Farrell**

Ryan has immense talent as a leg spinner, demonstrated by how quickly he developed his slider later in the season. Green Shield is a good indicator and not many Greenies play a full season in 4<sup>th</sup> grade. But bowling leggies is the hardest road to travel in cricket and Ryan needs to decide how much he wants it. With dedicated practice and an iron will his talent could take him anywhere.

#### David Farrell

Comes in for his first season at age 47 to take on the hardest role in any club (5<sup>th</sup> grade skipper) and walks away with the clubs first ever 5<sup>th</sup> grade premiership. Led a terrific group of youngsters from the front. Set the standard for them at practice and on weekends and they followed. Backed his players then let them play. Legend!

#### Jarrod Rawlings

A breakthrough season for Jarrod, especially after Christmas. Grew in stature and confidence with every game. Terrific onside player and will progress as his quick feet and off side game develops. Learnt some valuable lessons about reading the game and playing to your strengths which are now embedded into his batting psyche.

#### **Toby Poole**

Toby kept turning up and giving his all every week despite the frustration of struggling to get runs on the board. Through hard practice, was probably the most improved fielder in the club this season. His key is to develop a back foot game to compliment his strong front foot play.

#### James Boyer

James superb innings in the 5<sup>th</sup> grade final under immense pressure belied his tender age. Shows maturity well beyond his years. Technically very well organised and will flourish as strength comes with physical maturity. The catches and stumpings he took in the 5<sup>th</sup> grade final were as good as anything you would see in 1st grade. Destined for 1<sup>st</sup> grade with his continued magnificent work ethic. Selection in the NSW U16 Emerging Blues for 2011-12 was richly deserved.

#### Louis Anderson

Louis is one of those rare cricketers who have the ability to turn a match with half an hour of breathtaking batting. After a late start to the season, peeled off over 300 runs to be a vital cog in the 5<sup>th</sup> grade premiership. Showed he can adapt with a controlled innings under great pressure in the final. Off the field he displays that sense of humour that every team needs, especially in the tense moments.

#### Mitchell Pugh

Mitchell has a raw natural talent. He just needs to believe in himself. His progression is now learning batting craft, developing his game sense and an understanding of how to mentally get the best out of himself. Went from a non bowler to an integral part of the 5<sup>th</sup> grade attack in matter of weeks.

#### Matt Butcher

Butch showed great character in overcoming a debilitating start to the season – 12 runs in 7 innings would break a less resilient person, but Butch took it on the chin and assumed a magnificent leadership role in supporting Dave Farrell. Delivered with both and the ball when it mattered in the semi and final.

#### Arshdeep Virdi

29 wickets at 16 was a brilliant introduction to grade cricket. Arshdeep is genuine swinger of the ball both ways. Once he ran in and hit the crease a bit harder after Christmas, he gained that extra hard of pace that made him a much more formidable opponent for the batsmen. Played a number of valuable innings in the lower order and definitely has the potential to bat much higher in coming seasons.

#### Cameron Ashe

Cameron takes everything in his stride, a good trait for a spinner. Took 31 wickets and produced his best batting and bowling figures for the season in the final, a good sign for higher grades in coming seasons. Harder work on his fielding will see that aspect of his game develop. Needs to chew on SOK's ear whenever SOK is anywhere near Manly.

#### James Ritchie

After a disappointing season, James stood up in the 5<sup>th</sup> grade final when it really mattered. Strong off his pads and on the cut and will flourish as his top hand shots develop. Hopefully the great confidence and knowledge learned from the final will kick start him to a successful grade career.

#### **Steffan James**

Stef joined us at the start of the season and quickly showed his batting was too good for 5<sup>th</sup> grade. Unfortunately as a doctor at Manly Hospital his shifts put an early end to his season. Still turned up whenever he could to support the boys. One of the nicest blokes you will ever meet who we would love to have back in 2011-12 if his medical commitments allow.

#### Tom Kaye

Coming out of the Green Shield squad, Tom really improved as we reached the back end of the season. Doesn't say much but you could see him absorbing it all and putting it into practice. Learnt quickly from his own experiences and those around him. As he technically develops his ability to bat a "bit lower", he will get much more power into his shots. Add his useful medium pacers and rapidly improving fielding skills and he is a genuine all rounder of the future.

#### Micky Edwards

Came out of the Green Shield squad and after 2 balls of his initial grade training session we knew we had something special. 6 foot plenty tall, good speed for his age, hit the pitch hard and disliked batsmen. All the qualities you look for in an up and coming fast bowler. Liked to bowl in the 1<sup>st</sup> grade net and test himself against our best players. The NSW U17 program will be a terrific opportunity for him.

#### Sam Alexander

Sam only played one game, but kept turning up to practice twice each week, working diligently on improving his skills. Improved out of sight and deserves for good things to happen for him in 2011-12.





### FIRST GRADE REPORT 2010/11

**Captain: Adam Crosthwaite** 

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points
10 <sup>th</sup>	Manly-Warringah	19	1	9	3	6	0	137	3824	156	3305	55.8

The season that was – 2010/11. We played some great cricket and were so close to a one day premiership but disappointingly missed the two-day finals – the main competition we play.

Our one-day cricket was excellent. Two seasons ago we couldn't win a one day game, now we were a mere 10 runs off a premiership, and again played good T20 cricket unfortunately losing the qualifying final to Parramatta; but a good L/O season nonetheless. Our two day season was littered with missed opportunities and a poor end to the season which left a sour taste on the overall year.

We had great individual performances with guys up the top of League leader-boards. Cruickshank 970 runs, Bird 50+ wickets and Cleary 45+ wickets.

We had only our 4th and then our 5th 200s ever at the Club with Davis and Cruickshank displaying brilliant skill and application.

We had many amazing games where players took the game on their shoulders and decided to win the game themselves. Munting vs Penrith, Bird vs Syd Uni, King and Ritchie vs Gordon and many other team and individual highlights throughout the season.

The Players -

**Ben Davis** – Ben's first year at the Club was great not just for him, but the whole club. He fitted in like a glove and his skill, experience and attitude was a brilliant addition. Ben became only the 4th Manly player to pass 200 in an innings with a brilliant 220 not out to win the game for us against Campbelltown-Camden. His fielding was as good as you see in first grade cricket. We have secured a great person for years to come at the Club. Also, congratulations to Ben and Iva on their first baby, Chloe.

**Jack Ritchie** – Jack took another big step in becoming a senior batsman and a future leading run scorer in Sydney grade cricket. He stepped up and opened the batting in a permanent position having bided his time and is now ready to score big runs. Jack was superb on a tough wicket against Gordon – to open the batting and almost pulling off his maiden hundred under great pressure. He gave great contributions in all formats and is a player who can win a game in the field and occasionally with the ball. Well done on a good year mate and it only gets better for you as you are now a senior player and opening bat.

**Tim Cruickshank** – another amazing season from Tim including his first double hundred. Tim's efforts over the last two years have been sensational. To score 950+ runs in a season is astonishing. A player of Tim's calibre comes in under fire every time he bats, and week in and week out he takes the game to the opposition.

Tim was justly rewarded with his first domestic Alist game where he took on Queensland at the Gabba. This will not be the only time we see Tim line up with the Blues as he is a talent that has taken NSW a while to pick – but now he is in the mix, I have a great feeling that the country will now see what we all know, how good Tim Cruickshank is.

**Stephen O'Keefe** – it's not often you get to play with Australian cricketers, and it's a buzz that all get when they line up with Sok. Not that you would know it from his attitude, as he is just one of the boys. He gives everything he has, has a great time doing it, and that rubs off on the side. A future captain of NSW without a doubt and a Test cricketer for sure.

Steve has the ability to win games with the bat, ball, field and with his tactical knowledge – all which he shares with his teammates. Each time we see him hit the field for Manly, everyone knows he wants nothing more than to win that very game. A great player, with his head on his shoulders; when he would have every right to have it in the clouds.

**Nat Hill** – Nat had yet another great year with some really special innings. The one day final sticks in my mind where he almost singlehandedly won us the premiership by playing his natural game and kept his cool under pressure. The way Nat plays his cricket is infectious. He has faith in his ability and that of his teammates. Nat Hill is without doubt in my mind one of the best batters in Sydney.

It would not surprise me if Nat was to lead the competition in runs over the next few seasons – he is that good. However, sometimes misses the recognition, as he is a selfless team man willing to sacrifice his game for what the team needs. His bowling and fielding have also been amazing at times and his personality is something you love to be around. More hard work and Nat will show that he is good enough to play at the next level.

**Ben King** – Kingy had a great season and was so close to a hundred against Sydney where he showed how good he was, and also under pressure against Gordon – brilliant. Ben batted in the middle order and played his role each and every time. A smart cricketer who reads the game extremely well, adjusted his game from week to week to suit the situation. He did this brilliantly.

Around the group, Ben is fantastic and has a cricket mind that isn't out of place at a much higher level. Kingy has the ability to bat in the top order and score big runs in first grade, and I look forward to seeing this. Behind the scenes Ben is a great club man and a person that we cherish at Manly. As a playing committee member he is the voice of the players and only has the best intentions for the Club. For an extremely busy man what he does for Manly is greatly appreciated.

Luke Edgell – Luke has worked hard and smashed the door down to make the first grade team. He had a great season, and is setting himself up as a solid match winner we can play anywhere in the order. His attitude to his cricket and the team was amazing. Luke was left out of the one day final team and it was an extremely tough call, but the way he handled himself and the way he was around the group was testament to the person he is. His batting keeps improving and it won't be long before Luke gets his opportunity to bat up the order; and I have confidence that he will hold that spot for a long time.

At the back end of the season, Luke showed his skill and ability by batting for hours in consecutive weeks to two of the quickest and best bowlers in the competition. Big things ahead for the great man.

**Shane Cleary** – had a stunning season, one which turned many heads around in Sydney; but Shane just had the year we all knew he had in him. Shane used his raw pace to great advantage, often asked to bowl to team plans which sometimes made his figures blow out from no fault of his own. One of the highlights of the season was a brilliant hat trick against Fairfield, and

throughout the year Shane had numerous other chances to repeat this feat.

Shane was a match winner all season and his skill to nail yorkers on cue was excellent – often taking care of the opposition's tail, not allowing frustrating partnerships. Shane's move to Perth next season is a big loss for the Club but we wish him all the best, and with another personal season like the last, there is no reason why we won't see Shane opening the bowling for WA.

**James Munting** – Jimmy had a year where he improved and went beyond what even he thought capable. Jimmy has an ability to swing the ball and swing it big. As this skill takes time and many hours to control, Jimmy understood the work he had to do on the training track. Working well with both Winga and Patto, he really started to understand and control what he could do – a scary thought for opposition teams in the future.

Jimmy had a very consistent season and had one of the most amazing day's bowling you will ever see in cricket. Munta took 12 wickets on a day when our entire season was on the line needing to beat Penrith to keep our finals hopes alive. Enter Jimmy Munting – taking 4 wickets in the first innings, and an amazing 8 wickets in the 2nd innings to bowl us to an outright tie. It is a bowling display no one will forget, ever. Well done mate, keep working hard and you will do special things.

**Corrie Boss** – Bossy had a great year until cut short through injury. Again playing for NSW 2nd XI and starting to have people around the State asking about him. His one day control and 2 day consistency are brilliant for a guy his age – by far one of the fittest, strongest and toughest bowlers in the competition. Bossy bowled and bowled until he broke, the injury cutting down a season where he had been performing really well. His body now right, next season could be anything for Bossy who will step up to lead the attack.

One of the best compliments you can give to a player in any sport is that they are a guy who you want to go to battle with because you know that he will give everything he has got and will not stop until the end. This is exactly what you get with Bossy.

Jackson Bird – when you get a player like Jackson Bird return to the Club, it's a massive bonus. Coming back to Manly after several great years at Bankstown it was exciting to see what he would do. What he did was brilliant! To finish in the top few bowlers in the competition is a tremendous effort and he continued to put his name up in lights to represent NSW. Some of his spells through the year were First Class and a step above most batsmen in the competition. To take 6 wickets in a qualifying final against Sydney Uni was a standout and the players he knocked over that day showed he has what it takes to play the next level. Week in and week out the big unit was consistent and threatening.

Congratulations to Jackson for all his hard work and subsequently gaining a state contract down in Tasmania. Everyone in the Club wishes you the best and we can only hope that you come back and show NSW exactly what they have missed out on.

**Mitch Cleary** – Mitch played a big role in both T20 and one day cricket this year with first grade along with captaining 2nd grade. Mitch hits the biggest ball at the club and is one of our most dynamic fielders. Mitch is a match winner and it's only a matter of time before he has a regular spot in all forms of the game.

He has played himself into a great finisher of limited overs cricket with the bat, being able to clear the rope and play sensible cricket when needed. His fielding alone almost makes him a must pick in T20. At this club we are spoilt with great fielders and Mitch is at the top. Keep performing mate and the time will come to dominate first grade which you can do.

**Dave Poskitt** – Dave has been knocking at the door for first grade for years now. A consistent performer at 2nd grade level who thoroughly deserved his chance and when it came he performed very well. With limited opportunities, Dave showed he had the pace, consistency and knowledge to be a successful first grade bowler. At Manly we are so lucky to have had guality fast bowlers and Dave is no exception. He has been the unlucky player who keeps performing and doing his job in 2nd grade and deserving of a first grade spot. I hope that the day will come where Dave can have a long run in first grade, and I don't doubt his numbers will warrant him to stay there. Well done mate and keep doing what you do so well.

Throughout the season we also had contributions from **Cox, Marshall, Jeffery** and **Merchant** who each in their own right gave a lot to the side. We have said all along that the team is only as good as the squad and of the club.

I strongly believe that this team and especially the Club are moving in a great direction. We had a lot of good times this season and we have all learned a lot, about cricket and each other. You want to play in a team where you know the boys all care and want to win for each other and the club. Next season will no doubt be another great one in Manly history. On behalf of the first grade side I would like to thank a few people. People that make our time at Manly so enjoyable.

First of all our 12th man and genius manager **Dave Gardiner**. Dave is a special member of our group and his efforts are never lost on the boys. Dave thank you very much, we love having you around the team.

Our scorer, **Geoff Rogers**, for all the time and effort he puts in for us – brilliant. To have a Life Member like Geoffro watching every single ball of a season is special. Thank you mate and may it long continue.

**Fiona Lyon**, you are a legend of the Club. What you do for us all is so greatly appreciated. To say you are the Club's best asset would not be going too far. Thank you for all that you do around the club and for the first grade side. We all love you.

To the coaches, **David Patterson** and **Shawn Bradstreet**, thank you so much for all you have done with us as a collective group and individually. We have all learnt so much from you both and you are going to be missed dearly next season. The team and the Club know that we had two world class cricket minds guiding us through and that all your guidance was to better us as players and as a unit. Thank you and good luck to you and your families in the next venture away from Manly Oval. We know you will both be back often. Only a short flight Patto.

To President **Andrew Fraser** and the **Committee** thank you and congratulations on a very well run club. The efforts that you and the committee put in are amazing, and the Club is in a great place because of it. Sometimes overlooked, but not from this group of players. We thank you very much as it makes turning up and performing so much easier having a great back room.

And finally, to all of our **volunteers** and **supporters** of the team and of the club we thank you. I truly believe that what makes this Club great is that there are so many great people involved, and why it is such a great place to be a part of.

"On the March".

Cheers, Crossy

#### Adam Crosthwaite



Joint Senior Player of the Year Tim Cruickshank



Joint Senior Player of the Year Shane Cleary

# FIRST GRADE AVERAGES 2010/11

	Player	Mat	Inn	NO	100s	50s	HS	Runs	Ave	Ct/St
1	Cruickshank, Tim	18	22	3	2	6	203	876	46.11	5
2	Crosthwaite, Adam	19	22	1	1	5	120*	683	32.52	38/2
3	Hill, Nat	19	22	1	0	3	92	536	25.52	6
4	Davis, Ben	19	22	4	1	0	212*	483	26.83	5
5	Ritchie, Jack	18	19	2	0	1	89	381	22.41	3
6	Edgell, Luke	15	14	7	0	1	60	265	37.86	3
7	King, Ben	8	8	0	0	2	94	217	27.13	3
8	O'Keefe, Stephen	5	5	1	0	2	73*	205	51.25	2
9	Cleary, Shane	18	17	4	0	0	23*	97	7.46	1
10	Cox, Justin	6	5	0	0	0	41	84	16.80	0
11	Cleary, Mitch	5	5	1	0	0	39	81	20.25	2
12	Munting, James	18	12	6	0	0	21*	78	13.00	6
13	Merchant, Cameron	3	4	0	0	0	42	68	17.00	2
14	Bird, Jackson	19	9	4	0	0	15	46	9.20	4
15	Poskitt, David	5	3	0	0	0	20	21	7.00	1
16	Boss, Corrie	13	6	2	0	0	8	16	4.00	1
17	Lindsay, Andrew	1	1	1	0	0	13*	13	NA	0
18	Jeffrey, Andrew	1	1	0	0	0	11	11	11.00	0

# Batting

# Bowling

	Player	Mat	Ο	Μ	R	W	5Wi	10Wm	BBI	Ave
1	Cleary, Shane	18	198.2	30	826	47	2	0	5/46	17.57
2	Bird, Jackson	19	232.1	38	843	42	2	0	5/42	20.07
3	Munting, James	18	179.1	30	573	39	1	1	8/29	14.69
4	Boss, Corrie	13	96.1	14	393	19	0	0	4/43	20.68
5	O'Keefe, Stephen	5	61	10	206	9	0	0	3/40	22.89
6	Hill, Nat	19	42	5	201	8	0	0	2/21	25.13
7	Ritchie, Jack	18	34	7	158	5	0	0	2/7	31.60
8	Davis, Ben	19	48	10	249	5	0	0	2/47	49.80
9	Poskitt, David	5	33	4	105	2	0	0	1/25	52.50
10	Edgell, Luke	15	26.2	8	76	1	0	0	1/1	76.00
11	Lindsay, Andrew	1	2	0	9	0	0	0	0/9	NA
12	Marshall, Dylan	2	5	0	37	0	0	0	0/37	NA



The Cordon



Nat Hill during the One Day Final vs Sydney Uni



## FIRST GRADE MATCH RESULTS 2010/11

D	ates	Home Team		Away Team	Venue
1	25 Sep 10 2 Oct 10	Manly-Warringah <b>174</b> C Merchant 42 A Crosthwaite 38 S O'Keefe 29 and <b>2/177(dec)</b> T Cruickshank 69* N Hill 49* A Crosthwaite 36	def	North Sydney <b>99</b> S Cleary 3/15 S O'Keefe 3/40 C Boss 2/17 J Bird 2/20 and <b>3/70</b> S O'Keefe 2/25	Manly Oval
16	26 Sep 10	Fairfield-Liverpool <b>101</b> S Cleary 4/25 (inc hat-trick) J Munting 2/5 J Ritchie 2/7	def by	Manly-Warringah <b>8/201</b> J Ritchie 48 B Davis 47 N Hill 28	Rosedale C
2	9 Oct 10	Manly-Warringah <b>130</b> T Cruickshank 60 J Ritchie 28	def by	Sydney University <b>6/276</b> N Hill 2/24	Manly Oval
3	16 Oct 10 23 Oct 10	Mosman <b>268</b> J Bird 5/95 C Boss 3/37	drew	Manly-Warringah <b>6/226</b> T Cruickshank 73 J Ritchie 45* J Cox 41 AJ Crosthwaite 39	Allan Borde Oval
4	30 Oct 10	Northern District <b>176</b> J Bird 4/29 J Munting 2/22 S Cleary 2/45	def by	Manly-Warringah <b>2/254</b> AJ Crosthwaite 120* N Hill 92	Waitara Ov
5	6 Nov 10 13 Nov 10	Randwick Petersham <b>5/300(dec)</b> J Bird 2/61	drew	Manly-Warringah <b>6/293</b> T Cruickshank 105 S O'Keefe 57 J Cox 36	Coogee Ov
17	7 Nov 10	St George <b>6/120</b> J Bird 3/20	def by	Manly-Warringah <b>6/138</b> S O'Keefe 73*	Hurstville C
6	20 Nov 10 27 Nov 10	Manly-Warringah <b>4/347</b> B Davis 212* AJ Crosthwaite 62 L Edgell 28*	def	Campbelltown-Camden <b>345</b> S Cleary 4/63 J Munting 3/66	Manly Oval
18	21 Nov 10	Eastern Suburbs 3/118	def	Manly-Warringah <b>8/117</b> T Cruickshank 53	Waverley C
7	4 Dec 10 11 Dec 10	UNSW <b>7/246</b> S O'Keefe 2/32 J Munting 2/43 J Bird 2/46	def	Manly-Warringah <b>6/245</b> AJ Crosthwaite 62 N Hill 56 T Cruickshank 43 S O'Keefe 41 J Ritchie	Village Gre
8	5 Dec 10	Manly-Warringah <b>3/162</b> T Cruickshank 56* AJ Crosthwaite 51 B Davis 31	def	Blacktown <b>8/105</b> S Cleary 2/16 C Boss 2/24	Manly Oval
9	18 Dec 10	Manly-Warringah <b>9/160</b> N Hill 85	def by	Parramatta <b>161</b> S Cleary 4/42 C Boss 4/43	Manly Oval
10	8 Jan 11 15 Jan 11	Gordon <b>140</b> J Bird 5/42 S Cleary 3/44 and <b>70</b> J Bird 4/20 J Munting 2/14 C Boss 2/17 S Cleary 2/19	def by	Manly-Warringah <b>101</b> and <b>225</b> J Ritchie 89 BS King 71 N Hill 33	Chatswood Oval
19	9 Jan 11	Manly-Warringah <b>6/136(cc)</b> L Edgell 32*	def	Sutherland <b>9/107</b> J Munting 2/16 C Boss 2/17 J Bird 2/18 N Hill 2/21	Manly Oval
11	22 Jan 11 29 Jan 11	Manly-Warringah <b>380</b> T Cruickshank 203 BS King 94	def	Sydney <b>198</b> S Cleary 5/46 J Munting 3/37	Manly Oval
12	5 Feb 11 6 Feb 11	Hawkesbury <b>180</b> J Munting 4/27 S Cleary 3/70 J Bird 2/38	def by	Manly-Warringah <b>7/279(dec)</b> AJ Crosthwaite 58 T Cruickshank 52 BS King 42 L Edgell 38* N Hill 33	Owen Earle Oval
13	12 Feb 11 19 Feb 11	Manly-Warringah <b>92</b> and <b>1/69</b> B Davis 38*	def by	Bankstown <b>203</b> S Cleary 5/63 J Munting 2/34 J Bird 2/57	Manly Oval
14	26 Feb 11 5 Mar 11	Penrith <b>167</b> J Munting 4/34 S Cleary 4/47 J Bird 2/58 and <b>95</b> J Munting 8/29	def	Manly-Warringah <b>150</b> AJ Crosthwaite 49 L Edgell 32* and <b>7/112(dec)</b> AJ Crosthwaite 59 T Cruickshank 27	Cook Park
15	12 Mar 11	Western Suburbs <b>5/210</b> S Cleary 3/42 B Davis 2/47	def	Manly-Warringah <b>9/209</b> L Edgell 60 M Cleary 39 J Ritchie 25	Pratten Par



# MWDCC FIRST GRADE CAREER RECORDS OF CURRENT PLAYERS 2010/11

	_								_				
Player	Inn	N/O	Runs	HS	100	50	Average	Ct / St	Overs	Maidens	Runs	Wickets	Average
Baker, Aidan	2	0	11	6	0	0	5.50	1	4	0	41	1	41.00
Bird, Jackson	11	4	48	15	0	0	9.60	5	264.1	43	976	54	18.07
Bonnor, Ryan	47	3	538	62	0	2	12.22	24	806	122	3085	116	26.59
Boss, Corrie	26	7	163	27	0	0	8.58	10	346.1	50	1383	58	23.85
Cameron, Luke	21	1	418	74	0	2	20.90	4					
Cleary, Mitch	67	8	1031	135	1	1	17.48	23	185	32	779	12	64.90
Cleary, Shane	110	27	1247	59	0	3	15.03	23	1424.5	205	5471	219	24.99
Cox, Justin	53	3	1024	138	3	2	20.48	7	1	0	8	0	N/A
Cruickshank, Tim	216	19	6513	203	9	42	33.06	114	11	0	60	1	60.00
Crosthwaite, Adam	52	3	1718	200	2	13	35.07	85/8					
Davis, Ben	26	4	614	212	1	2	27.91	5	64	11	313	8	39.13
Edgell, Luke	34	8	537	81	0	3	20.66	9	89.2	16	406	11	36.91
Evans, Warren	80	21	577	34	0	0	9.78	23	1755	440	4966	207	23.99
Hill, Nat	49	5	1370	115	2	7	31.14	13	118	14	547	28	19.54
Jeffrey, Andrew	54	0	1291	103	1	9	23.91	10	0.1	0	6	0	N/A
King, Ben	36	1	576	94	0	4	16.46	5					
Lindsay, Andrew	59	10	675	67	0	2	13.78	21	764.4	125	2839	140	20.28
Little, Craig	61	8	1469	113*	1	6	27.72	29	141.2	16	646	24	26.91
Marshall, Dylan	0	0	0	0	0	0	N/A	0	5	0	37	0	N/A
Merchant, Cameron	68	8	2177	146	6	8	36.29	25	35.4	1	205	7	29.28
Munting, James	52	25	258	41	0	0	9.56	16	647	107	2315	114	20.31
O'Keefe, Stephen	20	3	591	158	1	3	34.77	7	210.1	42	647	34	19.03
Patterson, Scott	3	1	92	69	0	1	46.00	0					
Poskitt, David	4	1	22	20	0	0	7.34	1	36	4	131	3	43.67
Ritchie, Jack	41	5	701	89	0	3	19.48	12	120.1	19	537	28	19.18
Sullivan, Jamie	143	6	3171	111	1	13	23.15	39	1059.3	168	3998	143	27.96



### **SECOND GRADE REPORT 2010/11**

**Captain: Mitch Cleary** 

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points
7 <sup>th</sup>	Manly-Warringah	15	0	8	1	6	0	126	3263	134	3351	<u>46</u>

Second grade had yet another very promising year but again just fell short of reaching the finals. To finish 7<sup>th</sup> by just one point was extremely disappointing because we all knew if we had made it we would of given the finals series a real shake. In saying that, it was a terrific effort from such a young side. The majority of the boys were u/19 and playing their first full year of second grade so play the way we did and knock off some of the top teams along the way was very pleasing to be a part of.

There weren't too many standout performers / performances during the season because we were a solid team unit who played for each other and played there part when they were required. We snuck home in all the close games because of this and I believe this will hold 'this group' in good stead in the future. 'This group' that I speak off is this very talented bunch of young men that are coming through the club at the moment.

Players like Sam Webber, Dylan Marshall, Jarred Walter, Matty Mee, Matty Alexander, Michael Visser, Javed Badyari, and Nick McLachlan. These players have amazing amounts of talent and they know how to win cricket games. The future at Manly cricket is definitely in good hands with these blokes coming through and I wouldn't be surprised to see all of them play 1<sup>st</sup> grade or even higher in the years to come.

On the other side of the scale we had the 'older guys' I say this very loosely as the older guys were only 27 and 25. Players like AJ, Flat, Coxy, Nelly played an extremely important part of this team's success this year. You all lead from the front and showed the team what it takes to be quality grade cricketers and how to play tough cricket. You also taught a few lessons to the younger blokes about 'Life in general' which I think they appreciated.

I just wanted to point out a couple of standouts that caught my eye this year. The emergence of

Matty Mee was very promising. He came into second grade mid way through the year and was virtually unplayable. If this bloke gets fit and works on that rig of his, he could be anything and he wouldn't look out of place in first grade next year.

Matty Alexander, Michael Visser and Dylan Marshall were invaluable for the team this year, the combination this young bowling unit put together at the back of the year was second to none in the comp. You boys have the potential to be playing first grade and should be striving for that.

Lastly I would like to do a few thank yous and obviously I apologise for anyone I have missed.

To the Coaching staff of Shawn Bradstreet and David Patterson, I can't thank you guys enough for the time and effort you have put in not only for the club but for me personally over the past how many seasons you have been looking after the club. The results we have achieved as a club with premierships in 1<sup>st</sup> grade last year and 3<sup>rd</sup> and 5<sup>th</sup> grade this year are as much yours as they are the players. Well done guys and you will be missed.

To Gordon Currie and Fiona Lyon, I can't thank you two enough for the time and effort that you guys gave not only to me, but the 2<sup>nd</sup> and 1<sup>st</sup> grade teams on a Saturday and Sunday. Without people like you guys involved, Manly cricket would not be the amazing place that it is.

To the committee, sponsors, supporters and especially the parents, thank you for your tireless efforts off the field to make sure that we, the players get on the field every weekend.

Then obviously to all the players that I played with this year thanks again for making it another belter of a season on and off the field!

I am looking forward to doing it all over again next year.

## SECOND GRADE AVERAGES 2010/11

# Batting

	Player	Mat	Inn	NO	100s	50s	<b>0</b> s	HS	Runs	Ave.	Ct/St
1	Cleary, Mitch	12	14	1	1	2	0	101*	522	40.15	13
2	Jeffrey, Andrew	12	15	2	0	3	0	94	366	28.15	13
3	Walter, Jarrod	12	14	3	0	1	1	50*	299	27.18	3
4	Sullivan, Jamie	7	9	1	0	2	0	56*	284	35.50	4
5	Cox, Justin	6	6	0	0	1	0	92	281	46.83	5
6	King, Ben S	6	6	1	1	1	1	118*	236	47.20	3
7	Baker, Aidan	5	6	1	0	2	0	75	162	32.40	0
8	Cameron, Luke	6	7	0	0	1	1	57	122	17.43	1
9	Bonnor, Ryan	8	8	0	0	0	0	37	122	15.25	3
10	Marshall, Dylan	12	12	3	0	0	0	18*	119	13.22	2
11	Weston, Logan	7	9	0	0	0	1	27	112	12.44	5
12	Mee, Matthew	7	7	1	0	1	1	53	98	16.33	2
13	Webber, Sam	11	10	3	0	0	2	24	92	13.14	30/2
14	Edgell, Luke	3	3	0	0	1	0	57	87	29.00	4
15	Alexander, Matthew	8	8	2	0	0	0	25*	86	14.33	2
16	Poskitt, David	10	8	3	0	0	2	23	43	8.60	1
17	Badyari, Javed	2	2	2	0	0	0	21*	34	NA	0
18	Visser, Michael	5	4	1	0	0	0	14	32	10.67	0
19	Crosthwaite, James	1	1	0	0	0	0	26	26	26.00	0
20	Cranney, Matthew	1	1	0	0	0	0	20	20	20.00	3
21	McLachlan, Nick	9	6	2	0	0	4	15*	15	3.75	0
22	Lindsay, Andrew	2	2	0	0	0	0	11	13	6.50	0
23	Prowse, Ian	2	2	0	0	0	2	0	0	0.00	3



Second Grade Batting Award – Ben King

### **SECOND GRADE AVERAGES 2010/11**

### **Bowling**

	Player	Mat	0	Μ	R	W	5Wi	10Wm	BBI	Ave.
1	Mee, Matthew	7	75.1	12	240	21	1	0	5/33	11.43
2	Marshall, Dylan	12	173	33	594	19	2	0	5/60	31.26
3	Alexander, Matthew	8	128.5	29	380	18	0	0	3/34	21.11
4	Poskitt, David	10	108.5	18	450	18	0	0	3/36	25.00
5	McLachlan, Nick	9	94.2	19	346	15	0	0	3/26	23.07
6	Visser, Michael	5	108	22	351	12	0	0	4/68	29.25
7	Baker, Aidan	5	57.2	14	212	10	1	0	5/30	21.20
8	Sullivan, Jamie	7	70	6	238	10	0	0	4/51	23.80
9	Bonnor, Ryan	8	55.2	7	211	7	0	0	3/37	30.14
10	Lindsay, Andrew	2	20	4	47	3	0	0	2/25	15.67
11	Cleary, Mitch	12	22	1	97	2	0	0	1/25	48.50
12	Badyari, Javed	2	3	0	11	1	0	0	1/11	11.00
13	Prowse, lan	2	17	1	56	1	0	0	1/10	56.00
14	Edgell, Luke	3	28	6	91	1	0	0	1/16	91.00
15	Jeffrey, Andrew	12	6	1	11	0	0	0	0/2	NA



Second Grade Bowling Award and Players Player - Matt Mee

# Fairlight Gourmet Butcher & Café

152-154 Sydney Rd, Fairlight NSW 2094 Ph: 9949 2460 Ph: 9949 2566

# SECOND GRADE MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	25 Sep 10 2 Oct 10	North Sydney <b>301</b> D Marshall 5/60 D Poskitt 3/54	def	Manly-Warringah <b>199</b> J Cox 92 and <b>0/66</b> J Sullivan 56*	North Sydney 2
2	9 Oct 10	Sydney University <b>156</b> D Poskitt 3/37 N McLachlan 2/23 D Marshall 2/28 M Mee 2/31	def	Manly-Warringah <b>136</b> JL Crosthwaite 26	Sydney University 2
3	16 Oct 10 23 Oct 10	Manly-Warringah <b>9/350(dec)</b> BS King 118* L Edgell 57 M Cleary 44 J Walter 28	def	Mosman <b>237</b> N McLachlan 3/26 D Poskitt 3/36 A Lindsay 2/25	Manly Oval
4	30 Oct 10	Manly-Warringah <b>246</b> L Cameron 57 J Sullivan 56 A Jeffrey 51 J Walter 26	def by	Northern District <b>5/247</b> R Bonnor 2/50	Manly Oval
5	6 Nov 10 13 Nov 10	Manly-Warringah <b>213</b> BS King 64 J Sullivan 37 M Cleary 31	def by	Randwick Petersham <b>8/217</b> J Sullivan 4/51	Manly Oval
6	20 Nov 10 27 Nov 10	Campbelltown-Camden <b>183</b> M Alexander 3/34 M Mee 2/8 J Sullivan 2/31	def by	Manly-Warringah <b>198</b> M Mee 53 M Cleary 47 J Sullivan 30 A Jeffrey 25 and <b>4/223</b> M Cleary 101* J Walter 31* J Sullivan 29	Raby 1
7	4 Dec 10 11 Dec 10	Manly-Warringah <b>7/257</b> M Cleary 61 J Walter 50* R Bonnor 37 BS King 28 J Cox 26	def	UNSW <b>209</b> R Bonnor 3/37 D Poskitt 3/41 M Mee 2/36	Manly Oval
8	5 Dec 10	Blacktown	drew	Manly-Warringah	Joe McAleer Oval
9	18 Dec 10	Parramatta <b>120</b> M Mee 4/17 (inc hat-trick) D Marshall 2/22	def by	Manly-Warringah <b>8/131</b> J Cox 49	Old Kings Oval
10	8 Jan 11 15 Jan 11	Manly-Warringah <b>226</b> M Cleary 44 J Walter 39 J Cox 34 M Alexander 25*	def	Gordon <b>214</b> M Mee 5/33 D Poskitt 3/50 M Alexander 2/43	Manly Oval
11	22 Jan 11 29 Jan 11	Sydney <b>145</b> M Mee 4/37 M Visser 3/26 M Alexander 2/38 and <b>5/116</b>	def by	Manly-Warringah <b>165</b> J Cox 39 J Walter 25	Drummoyne Oval
12	5 Feb 11 6 Feb 11	Manly-Warringah <b>186</b> M Cleary 53 L Weston 26	def by	Hawkesbury <b>9/370</b> D Marshall 5/90 M Alexander 3/46	Manly Oval
13	12 Feb 11 19 Feb 11	Bankstown <b>191</b> M Visser 4/68 A Baker 2/16 D Marshall 2/28 N McLachlan 2/28	def by	Manly-Warringah <b>8/193</b> A Jeffrey 69 M Cleary 27	Bankstown Memorial Oval
14	26 Feb 11 5 Mar 11	Manly-Warringah <b>6/230(dec)</b> A Baker 51 M Cleary 47 J Walter 28 L Weston 27 and <b>3/62</b>	def	Penrith <b>137</b> A Baker 5/30 N McLachlan 3/26 M Alexander 2/29 and <b>314</b> N McLachlan 3/74 M Visser 3/83 A Baker 2/14	Manly Oval
15	12 Mar 11	Manly-Warringah <b>9/313</b> A Jeffrey 94 A Baker 75 J Cox 41	def by	Western Suburbs <b>7/314</b> M Alexander 3/39	Manly Oval



### **THIRD GRADE REPORT 2010/11**

**Captain: Craig Little** 

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points
1 <sup>st</sup>	Manly-Warringah	15	1	10	2	2	0	81	2614	142	2555	<u>69</u>

Before I start my report on 3<sup>rd</sup> Grade report, I would like to say how proud I am to be a part of this great Club. To not only be a part of a 3<sup>rd</sup> Grade Premiership side for the 2<sup>nd</sup> time, there is also being lucky enough to now be a premiership winning captain. But ultimately, being a part of this club's most successful season in 133 years is an achievement that everyone should be proud of.

To Dave Farrell and his mighty 5's, many congratulations on your Premiership - you all deserve this so much and it was a night of celebrations that nobody will ever forget. However I'm sure there are a few that might not remember all the detail of the long night!

So to my boys... after 3 years of trying and two semi-final losses we are finally the PREMIERS! Looking back on our season it's pretty clear that we deserved this premiership. We finished as Minor Premiers for the second successive year. This time we took over the lead after the second last game and it was obvious that we were hitting form at the right time of the season... when it mattered most!

We had some memorable wins - chasing down 270 against Randwick Petersham to win by 1 wicket. Smashing 3<sup>rd</sup> placed Bankstown by 9 wickets after bowling them out for 170 and gaining 10 points against Campbelltown at Grahams, just to name 3 of our wins.

But, we lost our first game of the season against Norths and drew our game with eventual wooden spooners, Mosman, thanks to a massive storm that flooded the ground. We didn't lose another game until we had to travel to the cricket world's best venue at Bensons Lane, for a wonderful, full weekend of cricket in 45 degree heat against Hawkesbury.

After this loss to Hawkesbury, we had a pretty frank discussion in the sheds as to where we wanted our season to go. I asked the boys just how badly they wanted this Premiership and what were we going to be prepared to do for ourselves and our teammates over the last 5 rounds. It was evident in that meeting that we had a squad who clearly would do anything possible to achieve our goal.

We committed to training more than just once a week or once a fortnight. We committed to looking after ourselves on Friday nights and helping our teammates prepare for our games as much as we needed to prepare as individuals. We set ourselves high standards, especially in the field. This was thanks to our regular Thursday night team fielding sessions.

We had a fantastic blend of youth and experience. In our finals series team of 12 we had some really talented players under the age of 21 who will be this club's stars of the future. Adam Gummer, Reece Hodge, Javed Badyari, Nick McLachlan and Ian Prowse all playing vital roles throughout our season. The most important thing was not only did they contribute but at times they won us the game when we needed them most. This was something that for me as captain was so pleasing to see. For the first 2 of my seasons in charge of this side we have depended on 1 or 2 senior individuals, so to see our younger teammates getting us over the line was so satisfying.

Then there were our senior players. Any side that can have former 1st graders in Matt Cranney, Adam Parkinson, Ryan Bonnor and Scott Patterson, a former NSW 2<sup>nd</sup> XI player in Andrew Lindsay and the club's workhorse and all round legend in Luke Mannell, is going to succeed. At times during the season, some of these senior guys struggled to make training due to other commitments that will always come first. But, after our discussion at Hawkesbury, I think these boys started to realise just how much of a chance we had of being the last team standing and we started to see them sacrificing plenty. So thanks to our sacrifices, preparation at training and every single player at various times putting his hand up to contribute to our success, the belief that we could and would win from anywhere was growing.

We also had the benefit of 2 of the best coaches in the business. I think we all appreciated having Shawn and David around. Their knowledge, professionalism, dedication and desire to see their beloved club perform well certainly rubbed off on all of the players.

To Winga and Patto, on behalf of myself and my side, thank you so much for your efforts this season. To see you both there celebrating all night with us was a real thrill, not only for the players involved but I'm sure it was for both of you too. A proud moment for this club, a moment that you both deserve to be extremely proud of! And Wing... I'm still recovering from that filthy Kebab!

Not only on the field were we enjoying our season but we were having just as much fun off it. We had the best manager that you could ever imagine in Alan Wright. Wrighty played every ball of every game with us, sharing the highs and lows and always putting the players first. He was such a major reason we were the eventual premiers. We always had ice cold beers in the esky, the tunes were always on during breaks and there were several memorable nights celebrating our victories and drowning our sorrows after our 2 losses. There were plenty of stories, mostly from Scott Patterson or about Scott Patterson. Plenty of laughs at everyone's misfortune, and plenty of pats on the back at everyone's personal success.

I'm sure by now everyone knows how our win, or draw, in the final came about. Sent in on a wet wicket and surviving to be 4 /78 at stumps. The next day we batted, batted and batted some more to be eventually all out for 238. I must say I was surprised to see St George not have a go. But it was their choice, as was sending us in when they won the toss. As far as we were concerned, it didn't matter about the result. We had worked so hard to get to the Minor premiership that in our eyes we deserved the right to be able to dictate terms during the final. If this is the only reward that a team can receive after finishing on top of the ladder after 15 rounds of a season then I'm sure we are not the only team around who would take the opportunity.

#### Again, something we certainly deserved!

Anyway, the players to make up this side can be so proud of their achievements this season. We are all mates for life now as we have shared in something special that binds us together in the history of this great club. The only disappointing thing to come out of this season is that we will never have this group together again on the field thanks to retirements and departures. But, this group deserves their moment in the sun, so here are few words on all the boys, in batting order of course...

#### **RYAN BONNOR**

Ryan was so happy that we had won the comp. He kept shaking his head with a big smile on his face! You could see it in his face but I don't think it had sunk into his mind. But I'm sure it has now! Ryan is a proud Manly boy, a junior who I have been lucky enough to play with since the age of 10 and I can honestly say that in all those years I had never seen Ryan want something as much as he wanted this Premiership. After Hawkesbury he said he would commit to training twice a week for the rest of the season and that's exactly what he did. It just goes to show that there is such a big reward at the end if you work for it. Good on ya mate!

#### MATT CRANNEY

Matt's presence behind the stumps, at the crease against the new ball or in the sheds sharing a laugh will be greatly missed by his team mates and this club. His form this season with bat and gloves was probably the best, hence the leading run scorer in the competition, of his 20 plus seasons with Manly and he could certainly pushed for higher grades had he wished. But we were glad he didn't! Over 6000 runs and plenty of dismissals, and, just to show his all round ability, he even has a few wickets. Now also a premiership winner! A true club legend. We will all miss you mate.

#### ADAM GUMMER

I don't think Gums could believe it when he realised he was a Premiership winner. At the start of the season, he was picked in 5's and scored a truckload of runs. When just before Christmas, I was looking for a batsman who was in form I couldn't resist picking him from 5's. And he slotted in straight away, scoring 40 in his first innings. After dropping down to 4's a couple of times, he certainly cemented his spot with a fantastic 75no against Wests in the last round. Gums can open or bat at 3 and he has a real knowledge of his strengths and weaknesses. He knows where he can and can't score runs and is exactly the rock we needed in our top order. A great team man with a wicked sense of humour. Well done Gum Ball!

#### IAN PROWSE

This club has had some great imports over the years and there is no doubt that the Sniffer will always be remembered as one of the best. Prowsie is a seriously talented all round cricketer; an elegant batsman, who we built many an innings around. Also a great guy for a captain to have in his side when I needed him to bowl, as his meds are accurate and rarely did he fail to get us the breakthrough we needed. As well as this, he is an incredible fieldsman! So good that you would swear that he was born in Australia.... It's been a pleasure to have you at Manly Prowler, we will miss having you around but we also wish you all the best on your return home to England.

#### SCOTT PATTERSON

Soul Pattinson missed a bit of the season while he was on his honeymoon in the US of A but you wouldn't have known it. It was a real plus for this side to have Scott coming in at 5 and either digging us out of trouble or batting us into an unbeatable position. Scott worked harder than ever this season and it is evident in his stats. He led us every week in the field and was always in the middle of the off field goings on, whether it was a story about Thursday night at Mona or planning our next team session. 9 years at Manly now which is hard to believe but I'm sure there will be plenty more, and hopefully a few more Premierships too!

#### ANDREW LINDSAY

Big Billy was the best thing to happen to this side this season. Unable to bowl and play 1st grade due to his shoulder injury, he set about being our middle order run machine. Coming in at 6 it was always interesting for us to see the opposition going mad after taking our fourth wicket. It was then hilarious to see the opposition wonder what the hell had happened 30mins later after William had gone bang, bang, bang, and put us back on top in the game. Although his hands were covered in butter for most of the season, Bills presence in the field was also a huge plus for us and our young bowlers in particular. His second 3<sup>ra</sup> grade premiership and another memorable year for Billy! Love your work William!

#### JAVED BADYARI

Here is the future of our club. A now 17 year old who has won a premiership and learnt in the last 2 years how to play cricket, as evidenced by his 5 and a half hour innings in the final to bat us to the trophy. Javed has a very mature head on his shoulders and a very astute cricket brain. His biggest problem I feel is the pressure he puts on himself. And I think there is one reason for this... it's the pressure applied by too many people who have no control over Javed's actions on the field. The best way for him to succeed is to work with the captain of the team he is playing in and for him to work to his role in the side. And most of all Jav, enjoy yourself! A very funny team man, who can change the vibe in the sheds with a one liner, and just a good guy to have in your team. We all certainly enjoyed having him in ours!

#### ADAM PARKINSON

Over the last 2 seasons Parko has been my right hand man. As a captain you couldn't ask for a more passionate and determined bloke to have help you out. Whether it was a discussion on selection, batting orders or just how to get the best out of certain players while they were a bit down and out of form, Parko was always there... And always spot on with his thoughts and comments! Not only this, he was our strike weapon with his little nude leggies and was damaging at time coming in at any stage of our innings with the bat. He has finished his great career at Manly with over 4000 runs and 200 He also has 2 third grade wickets. premierships, the second being a perfect finish to his playing days. Well done Inzy, we will miss you next year as no doubt will the entire club.

#### LUKE MANNELL

The work horse, the labourer, the emu, the snoz....call him what you like, he is now the Premier! In his 3<sup>rd</sup> season since joining us from Hawkesbury, Mez now has the ultimate prize that he so desperately wanted. A man who would do anything for any of his teammates; and worked incredibly hard on his preparation for his own game. We will always remember his 4 for 22 off 22 overs to bowl us to victory in the semi against Sutherland, the perfect time for Mez to produce his best spell of the year. However there were so many small and big contributions from him throughout the year that went along way to our success. His takeover of the stage and serious moves on the DF at the boatshed on the night of our Premiership victory... no doubt inspired by the Great White Shark himself, will never, ever be forgotten by those who witnessed them!

#### NICK McLACHLAN

By his own admission Nicko didn't have his best year. I'm sure at the start he would have had his sights set on playing 1<sup>st</sup> grade after a good full year in 2's last season. However it wasn't to be and his 3<sup>rd</sup> grade teammates were

certainly happy to have him be a major part of our Premiership. Nicko has real talent and after a full off season away from cricket, he will be back to his best next season, bowling with pace and hopefully regaining that inswinger that will be so dangerous for him. Stay patient mate, you have plenty of years ahead. Well done Nickos!

#### REECE HODGE

As always the hardest decision for a captain usually comes around semi-final time. If I could have fit 12 into 11 then I would but I just couldn't and unfortunately for Reecey he was the one to miss out on talking the field with us. At no stage was Reece the 12<sup>th</sup> man, he was always as much a part of our success or failure as anyone else in the side. He had a good season with us after coming up from 5's in what is his first full year in Grade Cricket. I reckon this kid will be an allrounder who bats at 7 in any grade within the next 3 years. This combined with his body developing and giving him an extra couple of yards of pace and the ability to swing the ball really late could see a big future for Reece! Be patient though mate and work hard for it if you want it. You are only 16 and have no need to rush, so enjoy your cricket and where it takes you... it already taken you to a premiership in you first full season!

There were a few players this year who came and went up to 2's or down to 4's. I would like to thank Matt Mee, Matt Alexander, Logan Weston, Jamie Sullivan, Luke Cameron, Sam Webber, Aidan Baker, Luke Grant, Dean Readett, Lance Stewart, Jarrod Walter and Ryan Farrell for their contributions to our success throughout the year. If there is anyone I have left out here I apologise....

There is one player I would like to single out though, as he was the recipient of the 3<sup>rd</sup> grade player of the year without being involved in our final team. His name is MICHAEL VISSER. Vis had a fantastic season over 3 grades this year, culminating in his performances in the last 4 rounds of the season in 2<sup>nd</sup> Grade. Vis bowled with great accuracy and control, moved the ball in the air and off the deck and picked up a yard or two in pace from last season. It was so good for us to see that after all his hard work he was finally getting the rewards he deserved... it also helped that he learnt how to bowl to the plans and field that his skipper had set for him... hey Vis? It does make one wonder why there was no spot for him in the PG's side this season. A mind boggling decision that I'm sure was to the detriment of that side! Nevertheless, well done on a fantastic season mate!

That's all our players who contributed to our runs and wickets for the year. But what about the one man who contributed to our beer money more than any member of the side?

#### ALAN WRIGHT

At the start of the season I asked Wrighty if he would like to join the 3's as manager for the season. He jumped at the chance to be a part of it. His job was to help me out with things like opening the sheds in the morning on game day, set up the scoreboard, fill the water bottles and containers, bring the scorebook and snakes, put the boundary cones out, bring the warm up bag and set up our drills while we were preparing in the sheds. The plan was that with him doing all of this it would allow me to concentrate on skippering the side and ultimately us performing better on the field. He did all of this without one single complaint and went to the extra length to make sure that as players we had all that we needed. We loved every minute of having Wrighty around, especially when he would open up the esky full of cans at the end of the day, no matter where we were playing in Sydney. There is no doubt that Wrighty is taken for granted around this club, which is incredibly disappointing, but not one of your teammates took you for granted mate. We couldn't have done this without you and there is a Premiership cap coming for you that will prove it!

My last thanks are to the committee for all their hard work as always. Without their hard work we wouldn't be able to play the game we love for the club we love. To Greg Norman and Maria Sharapova for their inspiration during the season. To the club sponsors for paying all the bills. Finally, to all the Parents, partners, wives, girlfriends, boyfriends and children for allowing us out of the house every Saturday... You now have to wait until September to get rid of us again!

Congratulations to the Club on a history making year. May there be many more memorable times ahead in the near future!

3rd Grade Captain, Craig Little

## **THIRD GRADE AVERAGES 2010/11**

# Batting

	Player	Mat	Inn	NO	100s	50s	0s	HS	Runs	Ave.	Ct/St
1	Cranney, Matt	14	15	3	2	3	1	118	564	47.00	20/2
2	Patterson, Scott	13	10	2	0	4	0	96	385	48.13	4
3	Prowse, Ian	13	12	2	0	2	2	84	261	26.10	3
4	Lindsay, Andrew	7	5	0	0	2	0	98	219	43.80	0
5	Weston, Logan	7	7	2	0	1	0	94*	199	39.80	4
6	Gummer, Adam	8	8	2	0	1	0	75*	198	33.00	3
7	Badyari, Javed	12	9	1	0	0	0	47	183	22.88	4
8	Bonnor, Ryan	7	7	0	0	1	0	62	165	23.57	1
9	Parkinson, Adam	14	10	3	0	0	0	40	163	23.29	3
10	Mannell, Luke	16	8	0	0	0	0	29	120	15.00	1
11	Little, Craig	16	12	1	0	0	3	29*	90	8.18	4
12	Baker, Aidan	3	3	0	0	0	0	47	59	19.67	1
13	Webber, Sam	3	1	0	0	0	0	49	49	49.00	0
14	McLachlan, Nick	7	5	4	0	0	1	34*	45	45.00	2
15	Mee, Matt	3	2	1	0	0	0	43	44	44.00	1
16	Cameron, Luke	3	3	1	0	0	1	37*	38	19.00	0
17	Walter, Jarrod	2	2	0	0	0	0	20	36	18.00	1
18	Readett, Dean	5	4	0	0	0	0	18	32	8.00	2
19	Hodge, Reece	5	2	1	0	0	0	13*	21	21.00	0
20	Sullivan, Jamie	1	1	0	0	0	0	17	17	17.00	0
21	Visser, Michael	8	3	1	0	0	0	8*	14	7.00	1
22	Alexander, Matt	5	3	3	0	0	0	5*	10	NA	0
23	Farrell, Ryan	1	1	0	0	0	1	0	0	0.00	0



Leading batsman in 3<sup>rd</sup> Grade competition – Matt Cranney

### **THIRD GRADE AVERAGES 2010/11**

# Bowling

	Player	Mat	0	Μ	R	W	5Wi	10W	BBI	Ave.
1	Little, Craig	16	186.1	39	549	41	2	0	5/33	13.39
2	Parkinson, Adam	14	148	30	434	26	1	0	6/31	16.69
3	Mannell, Luke	16	172.1	39	431	21	0	0	4/10	20.52
4	Visser, Michael	8	91	18	240	14	0	0	3/34	17.14
5	Alexander, Matt	5	53	8	154	8	0	0	3/55	19.25
6	Bonnor, Ryan	7	55.1	7	167	8	0	0	3/28	20.88
7	McLachlan, Nick	7	54	14	117	7	0	0	2/17	16.71
8	Hodge, Reece	5	55	12	171	5	0	0	2/28	34.20
9	Prowse, lan	13	31	7	82	4	0	0	2/17	20.50
10	Baker, Aidan	3	10	1	22	3	0	0	3/22	7.33
11	Badyari, Javed	12	23	2	142	2	0	0	1/31	71.00
12	Cranney, Matt	14	1	0	1	1	0	0	1/1	1.00
13	Sullivan, Jamie	1	4	0	20	1	0	0	1/20	20.00
14	Readett, Dean	5	6	2	21	1	0	0	1/18	21.00
15	Mee, Matt	3	36	7	99	1	0	0	1/28	99.00
16	Grant, Luke	2	8	3	17	0	0	0	0/17	NA
17	Farrell, Ryan	1	3	0	19	0	0	0	0/19	NA
18	Stewart, Lance	1	5	1	22	0	0	0	0/22	NA



Leading bowler in 3<sup>rd</sup> Grade competition & premiership winning captain – Craig Little

## THIRD GRADE MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	25 Sep 10 2 Oct 10	Manly-Warringah <b>198</b> S Webber 49 M Mee 43 S Patterson 32 A Parkinson 25	def by	North Sydney <b>9/199</b> A Parkinson 4/38 C Little 3/26	Graham Reserve
2	9 Oct 10	Manly-Warringah <b>4/156</b> I Prowse 67*	def	Sydney University <b>155</b> C Little 5/33 L Mannell 2/31	Graham Reserve
3	16 Oct 10 23 Oct 10	Mosman <b>269</b> C Little 4/53 M Visser 2/46 L Mannell 2/59	drew	Manly-Warringah <b>1/108</b> MS Cranney 60* L Weston 25	Rawson Park
4	30 Oct 10	Northern District <b>149</b> M Visser 3/34 M Alexander 2/23 C Little 2/41	def by	Manly-Warringah <b>6/152</b> L Weston 94* MS Cranney 39	Asquith Oval
5	6 Nov 10 13 Nov 10	Randwick Petersham 9/245(dec)	def by	Manly-Warringah <b>9/246</b> S Patterson 64 MS Cranney 57 J Badyari 28 L Weston 27*	Petersham Oval
6	20 Nov 10 27 Nov 10	Manly-Warringah <b>3/193(dec)</b> MS Cranney 107* A Gummer 43 and <b>0/7</b>	def	Campbelltown-Camden <b>79</b> L Mannell 4/10 C Little 4/30 and <b>118</b> 48 A Parkinson 3/2 A Baker 3/22	Graham Reserve
7	4 Dec 10 11 Dec 10	UNSW <b>145</b> C Little 3/31 M Alexander 3/55 M Visser 2/15	def by	Manly-Warringah <b>9/273</b> MS Cranney 118 S Patterson 46 A Parkinson 40	David Philips North
8	5 Dec 10	Manly-Warringah	drew	Blacktown	Manly Oval
9	18 Dec 10	Manly-Warringah <b>3/115</b> L Cameron 37* C Little 29*	def	Parramatta <b>9/112</b> A Parkinson 3/17 N McLachlan 2/17	Graham Reserve
10	8 Jan 11 15 Jan 11	Gordon <b>172</b> M Visser 3/38 C Little 2/14 L Mannell 2/34 R Bonnor 2/42	def by	Manly-Warringah <b>9/228(dec)</b> I Prowse 84 A Baker 47 L Mannell 29	Killara Oval
11	22 Jan 11 29 Jan 11	Manly-Warringah <b>273</b> J Badyari 47 A Lindsay 45 R Bonnor 42 N McLachlan 34*	def	Sydney <b>178</b> R Bonnor 3/28 N McLachlan 2/22 C Little 2/24 R Hodge 2/28	Graham Reserve
12	5 Feb 11 6 Feb 11	Hawkesbury <b>213</b> C Little 5/34	def	Manly-Warringah <b>138</b> A Parkinson 33	Bensons Lane 2
13	12 Feb 11 19 Feb 11	Manly-Warringah <b>3/193</b> MS Cranney 95 R Bonnor 62	def	Bankstown <b>171</b> A Parkinson 6/31 and <b>4/72</b> R Bonnor 2/27	Graham Reserve
14	26 Feb 11 5 Mar 11	Penrith <b>214</b> C Little 4/52 A Parkinson 3/55	def by	Manly-Warringah <b>6/272(dec)</b> A Lindsay 98 S Patterson 96 I Prowse 33 A Gummer 28	Rance Oval
15	12 Mar 11	Western Suburbs <b>176</b> C Little 2/34 A Parkinson 2/38	def by	Manly-Warringah <b>1/177</b> A Gummer 75* J Badyari 40* MS Cranney 38	Blick Oval
QF	19 Mar 11 20 Mar 11	Manly-Warringah	drew	Hawkesbury	Manly Oval
SF	26 Mar 11 27 Mar 11	Manly-Warringah <b>149</b> S Patterson 66	def	Sutherland <b>115</b> L Mannell 4/22 I Prowse 2/17 C Little 2/45	Manly Oval
GF	2 Apr 11 3 Apr 11	Manly-Warringah <b>236</b> A Lindsay 56 S Patterson 50 J Badyari 33	drew	St George	Manly Oval





### FOURTH GRADE REPORT 2010/11

**Captain: Joel Mason** 

P	Position 10 <sup>th</sup>	Team Manly-Warringah					Agst	Points

Firstly, congratulations to Jeannie and Dave on their fantastic Grand Final wins. Up the Manly boys! That was a special weekend for all of us. But I digress....

4<sup>th</sup> Grade at Manly Cricket over the last 5 years.... Now there's a story. This side has been blessed with some amazing talent, some great leaders, success in the grades above and below, and some great coaches. However, if we are going to be honest, in general 4<sup>th</sup> Grade has been a bit disappointing to all involved at Manly Cricket over those 5 years. The results have not indicated the true potential of the team. Unfortunately, I have to be truthful and say that the 2010/11 season was no different.

While we finished a respectable 10<sup>th</sup>, I think it was fair to say that this was lower than we expected to finish and the season turned out to be a little disappointing. But why did this occur? Likewise, why has 4th Grade, over the last 5 years, been the worst performing side at Manly? This is a question I have grappled with for a while now, and there is no easy answer. My lasting thought always comes back to seniority within the side. 4<sup>th</sup> Grade is a delicate grade as it is not necessarily full of youngsters on their way up like 5<sup>th</sup> Grade is (Pugh, Boyer etc), and it is not usually a grade with the hard heads that want to play as high as possible while still having fun (Parkinson, Bonner etc). But the clubs that do well in 4<sup>th</sup> Grade are usually able to get that right balance between youth and experience, and while we have the youth and talent, I don't necessarily think we have had the experience. Some thought for the future.

Having said that, 2010/11 was one of great enjoyment, laughter and experience. We had a team that gelled well together and got on very well. From Jarrod Baker's fines meetings to Lance "Digits" Stewart getting the best nickname in Australian sport, we had a great time and enjoyed each other's company immensely. At the end of the day, this is what I have always played cricket for.

Without doubt, what let us down the most was our batting. At one stage about <sup>3</sup>/<sub>4</sub> of the way through the season, we were the worst batting side in the

competition and only a late season revival, and some master class Rowley Alexander innings, put us back up the charts. On the days that our batting was on, it was really on, such as Hawkesbury and Wests. However, on alot of the other occasions it was disastrous.

Our bowling and fielding on the other hand was what kept us in most matches. Luke Grant will take alot of lower grade wickets due to his fantastic accuracy and progressing swing bowling, and Ryan Farrell is a start of the future. With Lance, Jarrod, Vinnie Rehaan, and Max "Bang Bang" Burgess backing them up, we always had a capable bowling line up. Our fielding was mostly very good, led capably by 'keeper Ben Stinson (who is as naturally talented a keeper/batsman as I have seen for a while). The only thing we needed in the field was more talk.

While it is a team game, I have historically always enjoyed the captain going through his team, so here goes:

#### Jarrod Baker

Schooner, you know how much I love playing cricket with you, you just make the day that much more enjoyable. I know you want to contribute more than you did, but your record speaks for itself. Your talent will shine through if you stick at it. I look forward to playing with you for many years to come.

#### **Rowley Alexander**

Some of Rowley's batting this year was just outstanding to watch. Scoring 300 runs from 8 innings at 43 shows what we missed when he was off injured, and his direction and leadership when he was on the field showed what a class act he is. Another I hope to be playing cricket with at-least for one more year.

#### Ben Stinson

Stino is a player if immense talent who just needs to commit fully to a season to realise his full potential. Like allot of us, work commitments got in the way of his training as much as he would have liked. A batsman who should bat in the top 6, and an elegant gloveman.

#### Lance Stewart

Digits, I think your time has come. What do you want to be... a batsman who bowls a bit, or a bowler who bats a bit? Personally, I think you should concentrate on your batting and aim to bat 5 or 6 and be that  $2^{nd}$  change bowler that every team needs.  $3^{rd}$  Grade is where you need to aim next season.

#### **Ryan Farrell**

Stiltsy.... so young, yet so talented. If he grows to be the size of his Dad, his leggies could turn and bounce more than an Adam Parkinson exaggeration. Bowled some fantastic spells (one which was "the best ever by a spinner" I think Schooner stated). Only young but if he absorbs the advice given, will go very far.

#### Vinnie Rehaan

Had a disjointed year but as usual was the character of the crew. Always has something to say about where he is batting or how many overs he bowled, but that is Vinnie's charm. Some excellent innings in the lower order. Lucky to stay in the side as long as he did due to our quota (Vinnie that is a joke).

#### **Dean Readett**

The way Deano is going, when I retire he will take over my mantel of Mr 30, and it pains me to say that. Deano, I am telling you from experience, it is not a good reputation to have. Along with Rowley, technically our best bat who needs to take control of an innings and bat teams out of the game. Loves a random chat to the opposition, which is fantastic.

#### Steff James

Steff is a batsman that should be playing 2's and 3's, but because of work we saw him sparingly. His innings against Sydney showed his patience and class, will be looking for big things next year.

#### Luke Grant

Luke is as hard working as anyone at the Club. Not quick but amazingly accurate and consistent. Sometimes that was his downfall as he got taken apart in some T20 games. However, he played the game hard and was always talking in the field, and scored some handy runs in the lower order.

#### Max "Bang Bang" Burgess

Like Luke, an extremely hard worker who has the ability to bowl some fantastic spells. As long as he can control those short balls and be more consistent in his length, can pose some huge questions to batsman up the grades. Probably the best lower grade fieldsman in the club, and probably the best we have seen in a few years.

Others to play for us this season were Corey Boss, Michael Cosentino, Matt Mee, Andrew Lindsay, Ed Burgess, Mitchell Pugh, Mikey Edwards, Matt Butcher, James Boyer, Michael Visser, Ian Prowse, Jarrod Rawlings, Reece Hodge, Adam Gummer, Javed Badyari, Louise Anderson, Tom Kaye, Jake Fraser, Warren "Wayno, Winchester, Wilfred, Clifford the Big red Dog" Evans, Aidan Baker. By my count, we had 31 players come through 4<sup>th</sup> grade, which I would guess might be more than, or close to, 5<sup>th</sup> grade.

I would also like to thank Shawn Bradstreet and David Patterson who were both fantastic sounding boards for me and taught me allot. Thanks to both of you.

I won't be continuing the Captaincy next season, more based on the other stuff I do around the Club than lack of enjoyment, but I will be on the field for many years to come.

> Fourth Grade Batting Award – Rowley Alexander

#### Joel Mason



### FOURTH GRADE AVERAGES 2010/11

### Batting

	Player	Mat	Inn	NO	100s	50s	<b>0</b> s	HS	Runs	Ave.	Ct/St
1	Mason, Joel	12	14	1	0	2	1	94	367	28.23	9
2	Readett, Dean	9	11	0	0	1	0	81	318	28.91	3
3	Alexander, Rowley	8	8	1	1	1	2	122*	303	43.29	1
4	Stewart, Lance	10	9	5	0	0	0	27*	187	46.75	1
5	Rehaan, Vinod	10	10	1	0	0	3	41*	141	15.67	3
6	Stinson, Ben	12	10	3	0	0	1	32*	126	18.00	12/4
7	Baker, Jarrod	9	11	1	0	0	3	41	100	10.00	5
8	Burgess, Maxwell	8	9	1	0	0	2	30	89	11.13	6
9	Boss, Corrie	4	4	0	0	1	0	56	82	20.50	0
10	Cosentino, Michael	7	9	0	0	0	2	22	82	9.11	2
11	Grant, Luke	11	9	0	0	0	2	36	78	8.67	3
12	James, Steffan	3	4	1	0	1	1	52*	65	21.67	0
13	Badyari, Javed	2	2	1	0	0	0	41*	52	52.00	1
14	Pugh, Mitchell	6	6	1	0	0	1	25	48	9.60	0
15	Gummer, Adam	3	4	0	0	0	0	16	41	10.25	0
16	Mee, Matthew	4	3	1	0	0	1	27*	32	16.00	0
17	Hodge, Reece	4	4	1	0	0	0	14*	27	9.00	2
18	Farrell, Ryan	12	9	3	0	0	6	12*	22	3.67	2
19	Baker, Aidan	1	1	0	0	0	0	13	13	13.00	0
20	Butcher, Matthew	6	7	1	0	0	4	8	12	2.00	2
21	Boyer, James	1	2	2	0	0	0	10*	10	NA	2/1
22	Fraser, Jake	2	1	0	0	0	0	9	9	9.00	0
23	Prowse, Ian	1	1	0	0	0	0	9	9	9.00	1
24	Edwards, Mickey	1	1	0	0	0	0	5	5	5.00	2
25	Visser, Michael	1	1	0	0	0	0	5	5	5.00	2
26	Rawlings, Jarrod	2	2	0	0	0	1	2	2	1.00	0
27	Burgess, Ed	1	1	0	0	0	1	0	0	0.00	0



## FOURTH GRADE AVERAGES 2010/11

	Player	Mat	0	Μ	R	W	5Wi	10Wm	BBI	Ave.
1	Grant, Luke	11	96.1	18	297	19	1	0	5/23	15.63
2	Rehaan, Vinod	10	106	23	315	17	0	0	3/49	18.53
3	Farrell, Ryan	12	114	14	431	16	0	0	3/14	26.94
4	Hodge, Reece	4	53.3	7	193	13	1	0	5/32	14.85
5	Burgess, Max	8	56.5	8	187	12	0	0	4/36	15.58
6	Stewart, Lance	10	65	9	224	9	0	0	2/10	24.89
7	Baker, Jarrod	9	62	4	272	8	0	0	3/18	34.00
8	Cosentino, Michael	7	33	6	121	7	0	0	3/16	17.29
9	Visser, Michael	1	12	2	44	5	1	0	5/44	8.80
10	Butcher, Matthew	6	14.4	0	57	5	0	0	4/6	11.40
11	Readett, Dean	9	31	6	75	4	0	0	2/8	18.75
12	Baker, Aidan	1	12	3	36	3	0	0	3/36	12.00
13	Edwards, Mickey	1	13	2	55	3	0	0	3/55	18.33
14	Evans, Warren	1	10	3	25	1	0	0	1/25	25.00
15	James, Steffan	3	1	0	7	0	0	0	0/7	NA
16	Pugh, Mitchell	6	11	3	12	0	0	0	0/4	NA
17	Lindsay, Andrew	1	6	2	19	0	0	0	0/19	NA
18	Burgess, Ed	1	9	2	26	0	0	0	0/26	NA

# Bowling



Fourth Grade Bowling Award - Luke Grant

### FOURTH GRADE MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	25 Sep 10 2 Oct 10	North Sydney <b>152</b> M Visser 5/44 J Baker 2/27 L Stewart 2/44	def by	Manly-Warringah <b>196</b> D Readett 81 R Alexander 36 L Stewart 25* and <b>0/15</b>	Tunks Park
2	9 Oct 10	Sydney University <b>92</b> M Butcher 4/6 L Stewart 2/10 L Grant 2/13	def by	Manly-Warringah <b>2/93</b> R Alexander 47 JR Mason 36*	St Paul's College
3	16 Oct 10 23 Oct 10	Manly-Warringah <b>165</b> L Grant 36 V Rehaan 36 L Stewart 27	def by	Mosman <b>186</b> R Farrell 3/54 L Stewart 2/13 V Rehaan 2/28 L Grant 2/34	Graham Reserve
4	30 Oct 10	Manly-Warringah <b>182</b> JR Mason 94 L Stewart	def by	Northern District <b>2/183</b> R Farrell 2/47	Graham Reserve
5	6 Nov 10 13 Nov 10	Manly-Warringah <b>162</b> JR Mason 38 V Rehaan 27	def by	Randwick Petersham <b>5/172</b> A Baker 3/36	Graham Reserve
6	20 Nov 10 27 Nov 10	Campbelltown-Camden <b>119</b> R Hodge 5/32 L Grant 2/19 V Rehaan 2/26 and <b>166</b> L Grant 5/23 V Rehaan 2/37	def	Manly-Warringah <b>85</b> D Readett 45 and <b>71</b>	Raby 2
7	4 Dec 10 11 Dec 10	Manly-Warringah <b>5/166</b> J Badyari 41* J Baker 41 L Stewart 27*	def	UNSW <b>163</b> R Farrell 3/14 M Cosentino 3/30 L Grant 3/35	Graham Reserve
8	5 Dec 10	Blacktown	drew	Manly-Warringah	Jim Hanshaw Oval
9	18 Dec 10	Parramatta <b>96</b> J Baker 3/18 V Rehaan 2/12 R Hodge 2/28	def by	Manly-Warringah 7/97	Old Kings Oval
10	8 Jan 11 15 Jan 11	Manly-Warringah <b>103</b> and <b>9/165(dec)</b> V Rehaan 41* D Readett 36	def by	Gordon <b>92</b> M Cosentino 3/16 R Hodge 3/34 V Rehaan 2/4 and <b>7/177</b> M Burgess 4/39	Graham Reserve
11	22 Jan 11 29 Jan 11	Sydney <b>6/190</b> R Farrell 3/103 V Rehaan 2/29	def	Manly-Warringah <b>189</b> S James 52* JR Mason 37 R Alexander 29	Ryde Oval
12	5 Feb 11 6 Feb 11	Manly-Warringah <b>3/248</b> R Alexander 122* JR Mason 65 M Mee 27* M Pugh 25	def	Hawkesbury <b>183</b> M Burgess 4/36 V Rehaan 3/49 R Farrell 2/60	Graham Reserve
13	12 Feb 11 19 Feb 11	Bankstown 1/127	def	Manly-Warringah <b>126</b> B Stinson 26	Jensen Park
14	26 Feb 11 5 Mar 11	Manly-Warringah <b>178</b> R Alexander 61 D Readett 39 M Burgess 30	def by	Penrith <b>8/194</b> M Edwards 3/55 D Readett 2/8 J Baker 2/45	Graham Reserve
15	12 Mar 11	Manly-Warringah <b>3/178</b> C Boss 56 JR Mason 39 B Stinson 32*	def	Western Suburbs <b>8/172</b> L Grant 2/30 L Stewart 2/36 M Burgess 2/38	Graham Reserve



Bank of Overnsland Linvited ABN 32 009 656 740.



### FIFTH GRADE REPORT 2010/11

**Captain: David Farrell** 

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points
2 <sup>nd</sup>	Manly-Warringah	15	2	9	1	3	0	108	2573	137	2471	74

Where do I start to review the season, Manly 5<sup>th</sup> Grade 2010/11?

The fact is, the team became the first from Manly to capture the "David Sherwood" Trophy in our proud history, something the District and club should be very proud of.

That sunny early April day when 11 cricketer's from the Northern Beaches hung on for a famous victory, will remain etched in the players memories for the rest of their lives and recorded in history, as the day that boys became men and overcame all the odds.

It's very important to start the season in winning ways, to give yourselves a chance of Semi Final cricket later on. 5<sup>th</sup> Grade did just that, managing 6 wins from the first 7 games, to sit 2<sup>nd</sup> on the ladder. During these games, I was fortunate to have the services of some fine cricketers, who were either new to the club, coming back from injury, or sent back to 5's to find some form.

**Billy Lindsay** made a superb ton in the first game, helping out the club while recovering from injury, showing the Manly club spirit is alive and well.

*Ed Burgess* slaughtered the Mosman bowing in a rain interrupted Round 3 game, to post a ton off about 60 balls. Try as we might, the undoubted talents that Ed has, were only seen in 1 other game this season.

**Steff James** came to the club from 'Blighty' via Manly Hospital where he was working. The "Doctor" was all class at the crease, scoring 49, 57no and 45, before he was picked up by 4<sup>th</sup> Grade. Steff's elegance on the cricket field was matched by his friendly nature off it. Top cricketer, top bloke, and welcome back anytime.

*Vinnie Rehaan* came down from 4's an angry man. He took his frustration out on the UNSW bowling in Round 7. Opening the batting in a one dayer, Vinnie compiled a stylish, sometimes brutal, 73. Work commitments would hamper Vinnie's cricket towards the end of the season.

**Adam Gummer** played the first 5 rounds in 5<sup>th</sup> Grade, becoming a leader in the team and captaining his last game against Randy Petes (which we won). Gumm's stats could not be ignored and he was lost to higher grades, becoming a Premier in Genies 3<sup>rd</sup> Grade team. Consistent runs, catches and a great work ethic were what Gumm's brought to 5<sup>th</sup> Grade, and a great example for the young blokes to follow.

*Max Burgess* also played a huge role in the leadership of the team. Always enthusiastic, talkative and great value in the sheds, Max never let his performances be affected by selection. A player you would always want in your side, Max played roughly half the season in 5s before joining Maso's 4<sup>th</sup> Grade team. 13 wickets @ 14 and a batting average of 28, shows the all-round ability that Max has.

The middle and later parts of the season saw the side become more settled. In came **Tom Kaye** from Shires and **Mitch Pugh & Mat Butcher** from 4<sup>th</sup> Grade. **Louis Anderson** finished his Rugby League commitments, which gave the team another X factor for the games ahead.

By about Round 10, we knew that we were going to be in the Semi's. Training intensity was up and the whole group started to find form, culminating with outright wins against Sydney (R11) and Hawkesbury (R12). Cricket was fun. Every player knew their role in the team and a winning culture was developing.

By the end of the regular season Manly had only lost 3 games, to finish  $2^{nd}$  on the ladder. A home final was the reward. As it happened, the Qualifying Final was washed out without a ball being bowled, seeing Manly progress due to all of the hard work throughout the year. A home Semi against Gordon was the next task ahead of the confident 5<sup>th</sup> Graders.

Atmosphere Park (Graham's Reserve) was the wet venue for our shot at making the final. The boys didn't disappoint with a comprehensive 222 run victory.

Runs were shared between *Matt Butcher (96), Tom Kaye (45) & Louis Anderson (32),* with only 4 bowlers used (all grabbing wickets), we now found ourselves in the Final with a great chance to win the Premiership.

#### The Final:

When I think back to the weekend of the final, a few things leap into my head.

- The wonderful setting of University No. 1
   Oval
- The support of *Patto,* families and past & present players
- Losing the toss and then rolling Easts for 111
- Ash Verdi (3), Pughy (2) & Butch (3) bowling out of their skins to never take our foot off their throats
- **Rabs Boyer** taking 3 first innings catches
- Jarrod Rawlings (48) & Rabs Boyer (60) giving the Tah's a first innings lead, only 1 wicket down on Day 1
- James Ritchie (52no) putting on close to a hundred with the tail, in a chanceless knock, full of character
- Feeling pretty satisfied to take a 160 run lead into the second innings
- Easts, to their credit, coming out in the 2<sup>nd</sup> innings and smashing us all around the park
- **Esky Ashe** taking a 5 wicket 2<sup>nd</sup> innings haul in a final
- Being set 140 odd to win, or 38 overs to bat out, to take the cup back to Manly Oval
- Losing early wickets to be 6 for 55, still with lots of overs to bat. Could this be happening
- Louis Anderson (35) & James Ritchie (28no) steadying the ship to put the title within reach
- The incessant sledging of the Easts fielders
- The final twist. Having to go out and bat out the final 4 overs after Louis was dismissed
- *Jim Ritchie* seeing the side home. Again undefeated in a remarkable final's performance
- Absolute joy, we hung on deny the minor premiers and lift the cup for the first time ever
- Singing the Manly song for the last, loudest and proudest time of the season

#### The players:

Cricket is a very individual and complex game. Everyone remembers the stats of players, the hundreds, the 5 wicket hauls, etc. Manly 5<sup>th</sup> Grade didn't have many of those last season. Not many players finished in the top 20 batsmen, bowlers or fielders, in the competition. To me, this fact was the strength of the side.

Everyone at some stage put their hand up and contributed a game turning innings, catch or wicket. Sometimes it was a story from the night before, or a well educated sledge of a teammate that took the pressure off and allowed the moment to be taken. It's a well worn phrase that a good team will always beat a team of individuals, but that is what occurred last season.

Guys, your dedication to training (we must have had the most at training every week), humour, support and friendship, will always remain close to my heart. We might not win another comp in our cricket lives, but we did in 2010/11. You all have so much to offer Manly Cricket and are only at the start of your careers. Thanks for the memories.

Mention must also be made of the many players who contributed 1 or 2 games. Mark these names for the future, as we will all see them climb the grades in the next few years – *Mickey Edwards, Will Jonkers, Cody Bruce, Sam Alexander, Keenan Gillespie.* 

#### Special Thanks:

**David "Patto" Patterson** – the best cricket brain that I have encountered. To have a coach of your standing helping out 5<sup>th</sup> Grade when the 'whips were cracking', meant so much to the team. Friendly, smiling, with a deep seated passion for Manly CC, all the players have progressed under your guidance. You will be sorely missed by all. Good luck with your Canadian adventure.

**Shawn "Winga" Bradstreet** – a man who commands respect. Has the knack of knowing when to push and when to hold back training. The fielding drills that were such a big part of Thursday nights, made a huge difference, not only to 5<sup>th</sup> Grade, but every player. Winga, please take my warmest thanks, on behalf of all the team, with you wherever you happen to be next season.

You and Patto have bought home 2 premierships in the 1 season, something that has never been achieved. Rich reward for all the time and effort that you guys have put in.

**Dollars** – Don never wavered in his devotion to the team and the cause. There is nothing better for Dollars, to see a local junior score runs or take wickets. Though often in obvious pain, you were always on the scorebook and always there to lend a hand. The team and club thank you mate, for all your work. Another premiership for a Manly legend. **Simon "Cliffy" Lyon** – You are a hard act to follow Cliffy. Building the 5<sup>th</sup> Grade side up for many years made my job that much easier. Called into action to skipper the side at late notice, you still showed your ability on the field, while working tirelessly in your many roles for the club. As a new comer, I really appreciate your help and guidance.

**Dave "Gains" Gainsford** – Gains, you probably had the hardest job of anyone in either Manly or Warringah Cricket Clubs. The "Pathway" for the juniors from Shires to Grade wasn't always straightforward, but you came up with the answers every week. All the hours spent on developing relations between the 2 clubs and providing opportunities for kids to play good standard cricket, will pay off in the long run. More than

Sincerely

**Dave Farrell** 

anything, thanks for helping me decide to have a run with the Grade Club and try to put something back into this great game.

Manly Captains & Committee – Crossy, Kingy, Genie & Maso have been a real inspiration for me this season. All great blokes. Thanks for making me feel welcome. Special congratulations to Genies  $3^{rd}$  Grade Premiers. Great to train together the last few weeks of the season and to bring 2 trophies back to Manly and do the "nudie run" was unbelievable.

*Frase, Rosco*, and all the Committee. Your work behind the scenes goes unnoticed, but was vital to the success of the season.



5<sup>th</sup> Grade Captain Dave Farrell



5<sup>th</sup> Grade celebrate a win – semi-final at Graham Reserve



## **FIFTH GRADE AVERAGES 2010/11**

### Batting

	Player	Mat	Inn	NO	100s	50s	0s	HS	Runs	Ave.	Ct/St
1	Rawlings, Jarrod	14	16	1	0	1	1	58	362	24.13	5
2	Anderson, Louis	8	10	0	0	2	1	63	305	30.50	5
3	Ritchie, James	15	16	2	0	2	1	62	264	18.86	8
4	Butcher, Matthew	9	9	0	0	1	1	96	227	25.22	4
5	Gummer, Adam	5	5	2	0	2	0	75*	212	70.67	4
6	Pugh, Mitchell	9	11	1	0	1	2	52	188	18.80	12
7	Boyer, James	15	11	1	0	1	2	60	181	18.10	23/7
8	Poole, Toby	14	15	1	0	0	2	45	179	12.79	2
9	Kaye, Thomas	9	11	2	0	0	1	45	168	18.67	0
10	Burgess, Edward	2	2	1	1	1	0	108*	162	162.00	0
11	James, Steffan	4	4	1	0	1	0	57*	156	52.00	4
12	Farrell, David	14	9	3	0	0	0	39	130	21.67	8
13	Virdi, Arshdeep	14	11	2	0	0	4	37	129	14.33	4
14	Lindsay, Andrew	1	1	0	1	0	0	119	119	119.00	0
15	Burgess, Maxwell	6	5	2	0	0	0	38*	83	27.67	1
16	Rehaan, Vinod	1	1	0	0	1	0	73	73	73.00	0
17	Ashe, Cameron	14	7	4	0	0	0	18	44	14.67	3
18	Meredith, Jordan	2	3	0	0	0	0	28	42	14.00	1
19	Lyon, Simon	2	2	2	0	0	0	19*	37	NA	0
20	Bruce, Cody	1	2	1	0	0	0	32	36	36.00	1
21	Fraser, Jake	2	3	0	0	0	0	9	21	7.00	2
22	Edwards, Mickey	2	2	1	0	0	0	10*	13	13.00	0
23	Farrell, Ryan	1	1	0	0	0	0	8	8	8.00	0
24	Gillespie, Keenan	3	2	0	0	0	0	3	4	2.00	0
25	Jonkers, William	1	1	0	0	0	0	2	2	2.00	1
26	Hodge, Reece	5	3	1	0	0	2	1*	1	0.50	4
27	Daly, Jordan	1	1	0	0	0	1	0	0	0.00	1

## FIFTH GRADE AVERAGES 2010/11

### Bowling

	Player	Mat	Ο	Μ	R	W	5Wi	10Wm	BBI	Ave.
1	Farrell, David	14	138.3	36	350	34	0	0	4/9	10.29
2	Ashe, Cameron	14	144.1	23	521	31	1	0	5/73	16.81
3	Virdi, Arshdeep	14	147.3	37	418	29	1	1	6/20	14.41
4	Burgess, Maxwell	6	76.2	12	182	13	1	0	5/51	14.00
5	Pugh, Mitchell	9	43	8	108	12	0	0	4/13	9.00
6	Butcher, Matthew	9	79.1	8	307	12	0	0	3/24	25.58
7	Hodge, Reece	5	52	6	163	10	0	0	4/33	16.30
8	Kaye, Thomas	9	43	7	125	5	0	0	2/21	25.00
9	Edwards, Mickey	2	31	4	106	4	0	0	2/22	26.50
10	Ritchie, James	15	55.4	8	219	4	0	0	1/4	54.75
11	Jonkers, William	1	12.5	4	43	3	0	0	3/20	14.33
12	Meredith, Jordan	2	14	3	38	2	0	0	1/13	19.00
13	Burgess, Edward	2	25	5	72	2	0	0	2/28	36.00
14	Cosentino, Michael	1	6	1	15	1	0	0	1/15	15.00
15	Lindsay, Andrew	1	6	1	22	1	0	0	1/22	22.00
16	Grant, Luke	1	2	0	22	1	0	0	1/22	22.00
17	Lyon, Simon	2	14	1	40	1	0	0	1/15	40.00
18	Poole, Toby	14	11	0	58	1	0	0	1/33	58.00
19	Anderson, Louis	8	2	0	7	0	0	0	0/7	NA
20	James, Steffan	4	3	0	8	0	0	0	0/8	NA
21	Rawlings, Jarrod	14	2	0	13	0	0	0	0/13	NA
22	Gillespie, Keenan	3	1	0	13	0	0	0	0/13	NA
23	Gummer, Adam	5	8	3	18	0	0	0	0/2	NA
24	Farrell, Ryan	1	8	2	20	0	0	0	0/20	NA
25	Alexander, Sam	1	11	2	30	0	0	0	0/14	NA
26	Rehaan, Vinod	1	6	0	32	0	0	0	0/32	NA

# FIFTH GRADE MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	25 Sep 10 2 Oct 10	Manly-Warringah <b>7/284(dec)</b> A Lindsay 119 S James 49 J Rawlings 45	def	North Sydney <b>201</b> R Hodge 4/65 M Burgess 3/16 D Farrell 2/32	Mike Pawley
2	9 Oct 10	Manly-Warringah <b>2/111</b> S James 57* A Gummer 36*	def	Sydney University <b>110</b> A Virdi 3/31 D Farrell 2/4	Mike Pawley
3	16 Oct 10 23 Oct 10	Mosman <b>208</b> <b>C</b> Ashe 4/36 A Virdi 2/19 E Burgess 2/28 M Burgess 2/49	def by	Manly-Warringah <b>3/213</b> E Burgess 108* A Gummer 75*	Balmoral Oval
4	30 Oct 10	Northern District <b>102</b> C Ashe 3/19 D Farrell 2/9 A Virdi 2/14	def by	Manly-Warringah <b>172</b> S James 45 D Farrell 39 A Gummer 29	Somerville Park
5	6 Nov 10 13 Nov 10	Randwick Petersham <b>148</b> M Burgess 5/51 R Hodge 4/33	def by	Manly-Warringah <b>168</b> A Gummer 69 M Pugh 46	Kensington Oval
6	20 Nov 10 27 Nov 10	Manly-Warringah <b>222</b> E Burgess 54 A Virdi 37 J Boyer 36 L Anderson 25	def by	Campbelltown-Camden <b>2/259</b> D Farrell 2/32	Mike Pawley
7	4 Dec 10 11 Dec 10	UNSW <b>191</b> M Butcher 3/24 C Ashe 3/51 D Farrell 2/9	def by	Manly-Warringah <b>6/247</b> V Rehaan 73 J Rawlings 58 M Butcher 44 M Burgess 38*	David Phillips South
8	5 Dec 10	Manly-Warringah	drew	Blacktown	Graham Reserve
9	18 Dec 10	Manly-Warringah <b>2/98</b> L Anderson 51 M Pugh 27*	def	Parramatta <b>97</b> A Virdi 2/12 C Ashe 2/14	Graham Reserve
10	8 Jan 11 15 Jan 11	Gordon <b>222</b> M Butcher 3/64 T Kaye 2/21 C Ashe 2/62	def	Manly-Warringah <b>193</b> T Poole 45 M Butcher 36 J Meredith 28	Beauchamp Park
11	22 Jan 11 29 Jan 11	Manly-Warringah <b>149</b> M Pugh 52 and <b>3/138</b> L Anderson 63 J Rawlings 37	def	Sydney <b>91</b> D Farrell 4/16 W Jonkers 3/20 and <b>9/194(dec)</b> M Pugh 4/13 D Farrell 3/14	Mike Pawley
12	5 Feb 11 6 Feb 11	Hawkesbury <b>96</b> A Virdi 4/11 D Farrell 2/23 M Edwards 2/27 and <b>99</b> A Virdi 6/20 M Edwards 2/22	def by	Manly-Warringah <b>9/184(dec)</b> J Ritchie 62 C Bruce 32 J Rawlings 26 and <b>3/14</b>	Bensons Lane 3
14	26 Feb 11 5 Mar 11	Penrith <b>164</b> C Ashe 4/36 M Pugh 3/24 A Virdi 2/11	def by	Manly-Warringah <b>7/271(dec)</b> L Anderson 42 T Kaye 41 J Ritchie 32 T Poole 30 M Butcher 30 A Virdi 30* J Boyer 28* J Rawlings 26	Bensons Lane 3
15	12 Mar 11	Western Suburbs <b>101</b> C Ashe 3/10 D Farrell 3/12 A Virdi 2/25	def by	Manly-Warringah <b>8/103</b> J Rawlings 40*	Punchbowl Oval
QF	19 Mar 11 20 Mar 11	Manly-Warringah	drew	Bankstown	Graham Reserve
SF	26 Mar 11 27 Mar 11	Manly-Warringah <b>307</b> M Butcher 96 T Kaye 45 D Farrell 33 L Anderson 32	def	Gordon <b>85</b> D Farrell 4/9 M Pugh 2/17 C Ashe 2/38	Graham Reserve
GF	2 Apr 11 3 Apr 11	Eastern Suburbs <b>111</b> M Butcher 3/27 A Virdi 3/27 M Pugh 2/18 D Farrell 2/35 and <b>7/300(dec)</b> C Ashe 5/73	def by	Manly-Warringah <b>274</b> J Boyer 60 J Ritchie 52* J Rawlings 48 L Anderson 25 and <b>7/108</b> L Anderson 35 J Ritchie 28*	Sydney University 1



### **POIDEVIN GRAY REPORT 2010/11**

**Captain: Jarrod Walter** 

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points	
12 <sup>th</sup>	Manly-Warringah	7	0	3	1	3	0	49	983	48	984	16	

Pre-season discussions of this team emphasised the future rather than the present. All players were available again in 2011-12 whilst half the team had another four seasons at this level. The emphasis on potential alone soon changed after some early performances where the boys turned in some outstanding fielding exhibitions and batted very well.

By the end of the season, however, thoughts had returned to the future and potential as several ongoing weaknesses were revealed. Primarily, we lacked the necessary depth in batting and needed another two reliable batsmen in the line-up. Secondly, we coped badly with the 20/20 format and though it is absurd to combine both 50/50 and 20/20 in the same competition at this level, this is an area that needs a great deal of thought.

The greatest strength of the team was its attack. Matt Mee, Matt Alexander and Nick McLachlan proved a handful for most oppositions, particularly in the 50/50 format. They were well supported on occasions by Michael Visser, Reece Hodge and Ashdeep Virdi.

Generally, the fielding was very, very good – always the sign of a good team as opposed to a collection of good players. Catching was at times brilliant, always sound; energy, enthusiasm and mobility always exciting; whilst some of the throwing was outstanding. The boys worked hard to achieve these standards and were always led and inspired by the efficient work of Sam Webber behind the stumps and Javed Badyari in the infield.

Logan Weston played some outstanding innings, though I am still not fully convinced by his preference to open the batting. Adam Gummer supported him and put pressure on the opposition. Jarrod Walter had great responsibility placed upon him and scored useful runs. Ian Prowse played a

Peter Philpott Coach brilliant innings and Javed Badyari usually did his job well. Javed is such a vibrant and important all-round team member, and, if his batting and/or bowling can consistently reach his magnificent fielding standards, he will become a really outstanding cricketer.

Following Badyari came the bowlers. Matt Alexander can become a fine batsman in his own right; Matt Mee also shows signs of batting ability though few runs; Nick McLachlan always showed enthusiasm and aggression; Reece Hodge has potential with the bat; Dylan Marshall has ability, yet has to come to terms with what batting is all about. Sam Webber was the best of the nonspecialist batsmen and was probably underutilised which will not happen again next season. All of these players contributed at times, but we asked too much of the tail.

Other batsmen used on occasions were Mitchell Pugh and Louie Anderson but had limited opportunity.

Jarrod Walter did an excellent job as captain. It is easy to identify errors in field placement and bowling changes on occasions, but, considering the lack of experience amongst boys of this age, he did well. His team was generally a happy and unified one which gave its all, recognised when it had not played to its optimum, and was quite rightly hurt and disappointed by less than its best.

But, in retrospect, it was another vital phase in the cricket education of these young men. They should have learnt a great deal and they should be looking forward to next Poidevin-Gray season.

Finally, despite the disappointments, time and distance involved, Mike Pawley and I enjoyed our association with the Poidevin-Gray boys, though, unless you have done it, few begin to realise the pressures involved.

### **POIDEVIN GRAY AVERAGES 2010/11**

	Player	Μ	Inn	NO	100s	50s	0s	HS	Runs	Ave.	Ct/St
1	Weston, Logan	6	6	0	1	0	1	123	187	31.17	2
2	Walter, Jarrod	6	6	0	0	0	0	33	128	21.33	2
3	Badyari, Javed	6	6	2	0	0	0	39	126	31.50	0
4	Gummer, Adam	6	6	0	0	1	0	52	121	20.17	0
5	Prowse, Ian	6	6	0	0	1	0	83	113	18.83	4
6	Alexander, Matt	6	5	3	0	1	0	56*	88	44.00	1
7	Webber, Sam	6	3	0	0	0	0	34	40	13.33	9/3
8	Mee, Matthew	6	6	0	0	0	0	17	35	5.83	3
9	Marshall, Dylan	6	5	1	0	0	0	14	26	6.50	1
10	Pugh, Mitchell	2	1	0	0	0	0	19	19	19.00	0
11	McLachlan, Nick	6	5	1	0	0	0	7	16	4.00	1
12	Hodge, Reece	2	1	1	0	0	0	1*	1	NA	0
13	Anderson, Louis	1	1	0	0	0	1	0	0	0.00	1

# Batting



Poidevin Gray Batting Award – Logan Weston

### **POIDEVIN GRAY AVERAGES 2010/11**

	Player	Mat	0	Μ	R	W	5Wi	10Wm	BBI	Ave.
1	Mee, Matthew	6	34	1	184	14	0	0	4/41	13.14
2	McLachlan, Nick	6	35.3	1	179	11	0	0	4/56	16.27
3	Marshall, Dylan	6	34.4	3	182	9	1	0	5/43	20.22
4	Alexander, Matt	6	32	5	108	8	0	0	2/10	13.50
5	Badyari, Javed	6	17	1	111	4	0	0	2/43	27.75
6	Weston, Logan	6	7	0	45	3	0	0	3/14	15.00
7	Hodge, Reece	2	6	1	15	2	0	0	2/15	7.50
8	Prowse, Ian	6	4	0	14	1	0	0	1/14	14.00
9	Gummer, Adam	6	2	0	22	0	0	0	0/22	NA
10	Visser, Michael	2	7	0	44	0	0	0	0/19	NA
11	Virdi, Arshdeep	4	8	0	46	0	0	0	0/46	NA

### Bowling

### POIDEVIN GRAY MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	24 Oct 10	Manly-Warringah	drew	Western Suburbs	Manly Oval
2	7 Nov 10	St George <b>5/123</b> M Mee 3/26 M Alexander 2/10	def	Manly-Warringah <b>5/100</b> J Badyari 33* A Gummer 31	Hurstville Oval
3	21 Nov 10	Eastern Suburbs <b>8/131</b> M Mee 3/18 N McLachlan 3/27	def by	Manly-Warringah <b>8/143</b> I Prowse 83	Waverley Oval
4	12 Dec 10	Manly-Warringah <b>8/268</b> L Weston 123 A Gummer 52 S Webber 34	def	North Sydney <b>242</b> M Mee 4/41 N McLachlan 4/56	Manly Oval
5	19 Dec 10	Manly-Warringah <b>160</b> J Walter 33 J Badyari 26	def	Fairfield-Liverpool <b>109</b> L Weston 3/14 D Marshall 3/16 M Alexander 2/13	Manly Oval
6	9 Jan 11	Manly-Warringah <b>8/151</b> M Alexander 56* J Walter 32	def by	Sutherland <b>6/201</b> M Alexander 2/31 J Badyari 2/43	Manly Oval
7	23 Jan 11	Penrith <b>9/178</b> D Marshall 5/43 N McLachlan 3/26 M Mee 3/39 R Hodge 2/15	def	Manly-Warringah <b>161</b> J Badyari 39 L Weston 33	Cook Park



## AW GREEN SHIELD REPORT 2010/11

Captains: Ryan Farrell / James Boyer

Position	Team	Ρ	wo	W1	D	L1	LO	Wkts Lost	Runs For	Wkts Taken	Runs Agst	Points
18 <sup>th</sup>	Manly-Warringah	7	0	1	0	6	0	65	1149	41	1193	<u>6</u>

Following the excellent 2010 result being unlucky to lose the final, 2011 was a disappointing Green Shield season.

Of course there were bright spots, some very bright ones indeed.

**Sam Hole** proved firstly a young batsman of very real potential, one of the most promising batsmen to come through Manly Green Shield over the past five years. He also understands the game, fields well and offers the essential drive, enthusiasm and energy in his entire cricket. He could be an outstanding player.

**James Boyer** was another of potential both with the wicket keeping gloves and the bat. As a batsman, he displayed good technique and positive intent. James' attitude and work ethic are excellent and I am confident in his ability to become a very, very good player.

**Cody Bruce** developed into a fine attacking batsman based on a positive attitude and aggression in his running between wickets and shot-making. Everything in his cricket oozed enthusiasm and energy, a model for his team mates and has an excellent future.

**James Trickey** revealed excellent potential as an attacking batsman, reliable fieldsman and steady medium pace bowler. He should maintain his aggressive approach to batting but gradually discipline his shot selection.

**Sam Gainsford** bowled with good promise, showed that he fully understands team batting, and always fielded with energy, enthusiasm. He has a good future in the game. **Mickey Edwards** revealed huge potential as a pacey out-swing bowler. Frequently he was too good for his opponents and always looked dangerous early. He needs to build up his strength and fitness and work hard on his batting and fielding to develop into a cricketer of unlimited potential.

**Will Jonkers** – Will bowled really well. He showed good pace, swing and accuracy to become an excellent new ball bowler. He must work now to build his powers of concentration in the field.

**Ryan Farrell** played several sound innings at number 3 and took brilliant catches in slips.

**Tom Kaye** continues to show great ability with the bat, in the field and even with the ball. I hope Tom makes it for he could be an outstanding cricketer.

Hamish Ferguson – his batting technique looked good. Unfortunately illness cut short his opportunities but he did show the attitude and enthusiasm so necessary for progress in this game.

Keenan Gillespie, Stuart Wiblin, Bill Darcy, Will Outred, Liam Tully and Scott White all suffered from the limited opportunities that having a squad of 16 presents in selections.

My sincere gratitude to the parents for their support of their sons and the team, to Don Sellin for scoring yet another Green Shield campaign and for Michael Pawley for the 130 hours of shared time that we spent at training, matches and travelling together to and from the four corners of Sydney.

Peter Philpott Coach

# AW GREEN SHIELD AVERAGES 2010/11

	Player	М	Inn	NO	100s	50s	0s	HS	Runs	Ave.	Ct/St
1	Hole, Sam	7	7	0	0	1	0	94	225	32.14	0
2	Farrell, Ryan	7	7	0	0	1	1	56	146	20.86	1
3	Bruce, Cody	5	5	3	0	1	0	60*	122	61.00	1
4	Boyer, James	7	7	0	0	0	0	28	113	16.14	5/2
5	Kaye, Tom	7	7	0	0	0	1	33	99	14.14	3
6	Tully, Liam	4	4	0	0	0	1	33	67	16.75	0
7	Gillespie, Keenan	6	6	0	0	0	1	24	56	9.33	1
8	Trickey, James	6	6	0	0	0	1	26	53	8.83	1
9	Gainsford, Sam	7	6	1	0	0	0	17	48	9.60	1
10	Wiblin, Stuart	5	3	2	0	0	0	38*	44	44.00	1
11	D'Arcy, Billy	6	6	1	0	0	2	23	38	7.60	0
12	Jonkers, Will	4	2	0	0	0	0	22	23	11.50	1
13	White, Scott	3	3	0	0	0	1	4	6	2.00	1
14	Ferguson, Hamish	2	2	0	0	0	1	3	3	1.50	0
15	Edwards, Mickey	5	3	2	0	0	0	2	2	2.00	0

# Batting

# Bowling

	Player	Mat	Ο	Μ	R	W	5Wi	10Wm	BBI	Ave.
1	Kaye, Tom	7	40	6	141	5	0	0	2/31	28.20
2	Gainsford, Sam	7	73.1	13	178	5	0	0	3/35	35.60
3	Hole, Sam	7	53.2	6	179	5	0	0	2/31	35.80
4	Edwards, Mickey	5	53	12	133	4	0	0	2/23	33.25
5	Farrell, Ryan	7	76	18	235	4	0	0	2/20	58.75
6	Outred, Will	3	15	0	79	3	0	0	1/22	26.33
7	Trickey, James	6	30	4	86	3	0	0	1/6	28.67
8	Jonkers, Will	4	40.4	8	122	1	0	0	1/39	122.00



Green Shield Batting Award and Langdon Gould Award winner - Sam Hole

# AW GREEN SHIELD MATCH RESULTS

RND	Dates	Home Team		Away Team	Venue
1	19 Dec 10	Fairfield-Liverpool <b>9/178(cc)</b> S Gainsford 3/35 M Edwards 2/30	def	Manly-Warringah 82	Rosedale Oval
2	21 Dec 10	Manly-Warringah <b>175</b> S Hole 94	def	Western Suburbs <b>99</b> R Farrell 2/20 M Edwards 2/23	Manly Oval
3	23 Dec 10	North Sydney <b>5/166</b> S Hole 2/31	def	Manly-Warringah <b>165</b> S Hole 45 J Boyer 28	Tunks Park
4	4 Jan 11	Manly-Warringah <b>129</b> R Farrell 56 S Hole 30	def by	St George 2/133	Manly Oval
5	6 Jan 11	Eastern Suburbs 2/194	def	Manly-Warringah <b>9/191(cc)</b> C Bruce 37* T Kaye 33	Waverley Oval
6	11 Jan 11	Sutherland 6/217	def	Manly-Warringah <b>6/214(cc)</b> C Bruce 60* R Farrell 29 T Kaye 29 J Trickey 26	Tonkin Park
7	13 Jan 11	Manly-Warringah <b>193</b> S Wiblin 38* L Tully 33 R Farrell 26	def by	Penrith <b>7/206(cc)</b> T Kaye 2/31	Manly Oval





# MWDCC CONSOLIDATED AVERAGES 2010/11

Player	Mat	Inn	NO	100s	50s	HS	Runs	Ave.	Catches	0	Μ	R	W	Ave	5WI	BB
Alexander, Matthew	13	11	5	0	0	25*	96	16.00	2	181.5	37	534	26	20.54	0	3/34
Alexander, Rowley	8	8	1	1	1	122*	303	43.29	1							
Anderson, Louis	9	10	0	0	2	63	305	30.50	5	2	0	7	0	N/A	0	0/7
Ashe, Cameron	14	7	4	0	0	18	44	14.67	3	144.1	23	521	31	16.81	1	5/73
Badyari, Javed	16	13	4	0	0	47	269	29.89	5	26	2	153	3	51.00	0	1/11
Baker, Aidan	9	10	1	0	2	75	234	26.00	1	79.2	18	270	16	16.88	1	5/30
Baker, Jarrod	9	11	1	0	0	41	100	10.00	5	62	4	272	8	34.00	0	3/18
Bird, Jackson	25	11	6	0	0	15	48	9.60	5	264.1	43	976	54	18.07	3	6/19
Bonnor, Ryan	15	15	0	0	1	62	287	19.13	4	110.3	14	378	15	25.20	0	3/28
Boss, Corrie	20	10	2	0	1	56	98	12.25	1	96.1	14	393	19	20.68	0	4/43
Boyer, James	16	13	3	0	1	60	191	19.10	25/8							
Bruce, Cody	1	2	1	0	0	32	36	36.00	1							
Burgess, Edward	3	3	1	1	1	108*	162	81.00	0	34	7	98	2	49.00	0	2/28
Burgess, Maxwell	14	14	3	0	0	38*	172	15.64	7	133.1	20	369	25	14.76	1	5/51
Butcher, Matthew	15	16	1	0	1	96	239	15.93	6	93.5	8	364	17	21.41	0	4/6
Cameron, Luke	9	10	1	0	1	57	160	17.78	1							
Cleary, Mitch	23	22	2	1	2	101*	630	31.50	16	22	1	97	2	48.50	0	1/25
Cleary, Shane	24	20	5	0	0	23*	112	7.47	2	222.4	32	941	53	17.75	2	5/46
Cosentino, Michael	8	9	0	0	0	22	82	9.11	2	39	7	136	8	17.00	0	3/16
Cox, Justin	12	11	0	0	1	92	365	33.18	7/1							
Cranney, Matthew S	15	16	3	2	3	118	584	44.92	23/2	1	0	1	1	1.00	0	1/1
Crosthwaite, Adam J	25	26	2	1	8	120*	875	36.46	44/4							
Crosthwaite, James L	1	1	0	0	0	26	26	26.00	0							
Cruickshank, Tim	24	26	3	2	6	203	942	40.96	6							
Daly, Jordan	1	1	0	0	0	0	0	0.00	1							
Davis, Ben	25	26	4	1	2	212*	614	27.91	5	64	11	313	8	39.13	0	2/26
Edgell, Luke	22	17	7	0	2	60	352	35.20								

Player	Mat	Inn	NO	100s	50s	HS	Runs	Ave.	<u>Catches</u>	0	М	R	W	Ave	5WI	BB
Edwards, Mickey	3	3	1	0	0	18	10*	9.00	2	44	6	161	7	23.00	0	3/55
Evans, Warren	1								0	10	3	25	1	25.00	0	1/25
Farrell, David	14	9	3	0	0	39	130	21.67	8	138.3	36	350	34	10.29	0	4/9
Farrell, Ryan	14	11	3	0	0	12*	30	3.75	2	125	16	470	16	29.38	0	3/14
Fraser, Jake	4	4	0	0	0	9	30	7.50	2							
Gillespie, Keenan	3	2	0	0	0	3	4	2.00	0							
Grant, Luke	14	9	0	0	0	36	78	8.67	3	106.1	21	336	20	16.80	1	5/23
Gummer, Adam	16	17	4	0	3	75*	451	34.70	7	8	3	18	0	N/A	0	0/2
Hill, Nat	25	26	2	0	5	92	712	29.67	8	54	5	271	11	24.64	0	3/31
Hodge, Reece	14	9	3	0	0	14*	49	8.17	6	160.3	25	527	28	18.83	1	5/32
James, Steffan	7	8	2	0	2	57*	221	36.83	4	4	0	15	0	N/A	0	0/7
Jeffrey, Andrew	13	16	2	0	3	94	377	26.93	13	6	1	11	0	N/A	0	0/2
Jonkers, William	1	1	0	0	0	2	2	2.00	1	12.5	4	43	3	14.33	0	3/20
Kaye, Thomas	10	11	2	0	0	45	168	18.67	1	43	7	125	5	25.00	0	2/21
King, Ben S	17	16	1	1	3	118*	472	31.47	6							
Lindsay, Andrew	12	9	1	1	2	119	364	45.50	1	34	7	97	4	24.25	0	2/25
Little, Craig	16	12	1	0	0	29*	90	8.18	4	186.1	39	549	41	13.39	2	5/33
Lyon, Simon	2	2	2	0	0	19*	37	NA	0	14	1	40	1	40.00	0	1/15
Mannell, Luke	16	8	0	0	0	29	120	15.00	1	172.1	39	431	21	20.52	0	4/10
Marshall, Dylan	14	12	3	0	0	18*	119	13.22	2	178	33	631	19	33.21	2	5/60
Mason, Joel R	12	14	1	0	2	94	367	28.23	9							
McLachlan, Nick	16	11	6	0	0	34*	60	12.00	2	148.2	33	463	22	21.05	0	3/26
Mee, Matthew	14	12	3	0	1	53	174	19.34	3	111.1	19	339	22	15.41	1	5/33
Merchant, Cameron	3	4	0	0	0	42	68	17.00	2							
Meredith, Jordan	2	3	0	0	0	28	42	14.00	1	14	3	38	2	19.00	0	1/13
Munting, James	24	15	8	0	0	21*	92	13.14	6	207.1	34	709	42	16.88	1	8/29
O'Keefe, Stephen	8	8	1	0	2	73*	243	34.71	3	85	11	288	10	28.80	0	3/40
Parkinson, Adam	14	10	3	0	0	40	163	23.29	3	148	30	434	26	16.69	1	6/31
Patterson, Scott	13	10	2	0	4	96	385	48.13								
Poole, Toby	14	15	1	0	0	45	179	12.79	2	11	0	58	1	58.00	0	1/33

Player	Mat	Inn	NO	100s	50s	HS	Runs	Ave.	<u>Catches</u>	0	М	R	W	Ave	5WI	BB
Poskitt, David	15	11	3	0	0	23	64	8.00	2	141.5	22	555	20	27.75	0	3/36
Prowse, Ian	16	15	2	0	2	84	270	20.77	7	48	8	138	5	27.60	0	2/17
Pugh, Mitchell	15	17	2	0	1	52	236	15.74	12	54	11	120	12	10.00	0	4/13
Rawlings, Jarrod	16	18	1	0	1	58	364	21.41	5	2	0	13	0	N/A	0	0/13
Readett, Dean	14	15	0	0	1	81	350	23.33	5	37	8	96	5	19.20	0	2/8
Rehaan, Vinod	11	11	1	0	1	73	214	21.40	3	112	23	347	17	20.41	0	3/49
Ritchie, Jack	24	22	2	0	1	89	402	20.10	5	53	7	253	9	28.11	0	2/7
Ritchie, James	15	16	2	0	2	62	264	18.86	8	55.4	8	219	4	54.75	0	1/4
Stewart, Lance	11	9	5	0	0	27*	187	46.75	1	70	10	246	9	27.33	0	2/10
Stinson, Ben	12	10	3	0	0	32*	126	18.00	12/4							
Sullivan, Jamie	8	10	1	0	2	56*	301	33.44	4	74	6	258	11	23.45	0	4/51
Virdi, Arshdeep	14	11	2	0	0	37	129	14.33	4	147.3	37	418	29	14.41	1	6/20
Visser, Michael	14	8	2	0	0	14	51	8.50	3	211	42	635	31	20.49	1	5/44
Walter, Jarrod	14	16	3	0	1	50*	335	25.77	4							
Webber, Sam	14	11	3	0	0	49	141	17.63	31/2							
Weston, Logan	14	16	2	0	1	94*	311	22.22	9							



# Proudly supporting our local community.

## MWDCC CLUB RECORDS 1878-2010

#### FIRST GRADE

Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	M Phelps M Phelps J Burke J Randall J Burke M Atkinson	233* 1127 80.75 78 6.13 56 (52ct/4st)	1999-00 1997-98 1947-48 1909-10 1952-53 2005-06
SECOND GRADE			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	C A Glassock D Gee S Spoljaric J Randall R Walton A Dignan	261 843 77.25 88 6.54 45 (36ct/9st)	2001-02 1904-05 1999-00 1904-05 1972-73 1996-97
THIRD GRADE			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	B Clemow G Lowe R Farnell F Brand F Lawler B Bilton R Holmes	287* 973 84.33 79 5.81 38 (34ct/4st) 38 (32ct/6st)	1992-93 1930-31 1920-21 1922-23 1899-00 1986-87 1979-80
FOURTH GRADE			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	J Gurd S Couch D Patterson W Bassett P Jenkins T Rodgers	202 607 62.80 97 5.81 37 (30ct/7st)	1953-54 2003-04 1982-83 1936-37 1958-59 1986-87
FIFTH GRADE			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	A Fraser J Stewart A Brenner J Maher R Green S Webber	183 694 61.00 55 8.69 35 (27ct/8st)	2003-04 1981-82 1982-83 1981-82 1972-73 2009-10
POIDEVIN GRAY SHIELD			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	T Parsonage W Athey I Howell P Philpott G Juul <i>unavailable</i>	178 465 198.00 38 5.80	1930-31 1977-78 1965-66 1950-51 1995-96
AW GREEN SHIELD			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissal by a Wicketkeeper	B Shoebridge J Walter C Merchant J Barnes D Hanlin S Webber	169 445 219.00 41 5.68 25 (11ct/14st)	1988-89 2006-07 1999-00 1956-57 1944-45 2009-10

# **MWDCC CLUB RECORD PARTNERSHIPS**

#### 1<sup>ST</sup> GRADE

WICKET	RUNS	BATSMEN & THEIR SCORES	OPPONENT	SEASON
1 <sup>ST</sup>	271	R Fry (159) & G Bush (125)	North Sydney	1990-91
2 <sup>ND</sup>	319	M Bevan (227) & R Fry (114)	Balmain	1997-98
3 <sup>RD</sup>	301	T Cruickshank (175) & C Merchant (125)	Sydney University	2006-07
4 <sup>1H</sup>	231*	M Bevan (152*) & S Bradstreet (107*)	Sutherland	1995-96
5 <sup>TH</sup>	221	M Phelps (196) & M Faraday (95)	Sutherland	2001-02
6 <sup>TH</sup>	208	B Adrian (123) & J Gwynne (82)	Mosman	1945-46
7 <sup>1H</sup>	120	R McNeill (83) & M Pawley (59)	Waverley	1974-75
8 <sup>1H</sup>	186*	L Gwynne (147*) & R Freeman (94*)	St George	1924-25
9 <sup>1H</sup>	127	W Rogers (70) & R Bubb (61)	Northern District	1925-26
10 <sup>1H</sup>	105	C Harris (65) & G Dunlop (55*)	North Sydney	1925-26

#### 2<sup>nd</sup> GRADE

WICKET	RUNS	BATSMEN & THEIR SCORES	OPPONENT	SEASON
1 <sup>ST</sup>	219	A Turner (137) & N Travers (81)	Glebe	1963-64
2 <sup>ND</sup>	239	I Howell (114) & S Mesite (107)	Sutherland	1976-77
3 <sup>RD</sup>	195	C A Glassock (261) & P Brenner (89)	Sutherland	2001-02
4 <sup>1H</sup>	185	N Dodd (160) & A Maidment (129)	Parramatta	2003-04
5 <sup>1H</sup>	177*	D Felton (101*) & J Stewart (75*)	Mosman	1972-73
6 <sup>TH</sup>	223	C A Glassock (261) & R Fry (87)	Sutherland	2001-02
7 <sup>1H</sup>	196	K Pitcher (119*) & G Boyer (108)	Hawkesbury	1989-90
8 <sup>1H</sup>	189	G Evans (135) & G Boyer (84*)	Mosman	1994-95
9 <sup>1H</sup>	119	G Juul (97) & L Cronin (39*)	Sydney University	1994-95
10 <sup>1H</sup>	101	D Ogilvy (67*) & J Ferguson (34)	Glebe	1904-05

## 3<sup>RD</sup> GRADE

WICKET	RUNS	BATSMEN & THEIR SCORES	OPPONENT	SEASON
1 <sup>ST</sup>	232	A Baker (170*) & J Cox (100)	University of NSW	2007-08
2 <sup>ND</sup>	150	T Blank (76) & R Hutchinson (71)	Bankstown	1998-89
3 <sup>RD</sup>	266	R Parker (158) & R Hamman (143)	North Sydney	2006-07
4 <sup>1H</sup>	222	G Juul (134*) & J Castrisos (119)	Mosman	2002-03
5 <sup>1H</sup>	190*	B Clemow (287*) & P Procopis (48*)	Bankstown	1992-93
6 <sup>1H</sup>	142	D Stevenson (116) & J Castrisos (90)	Balmain	2001-02
7 <sup>1H</sup>	120	G Beard (88) & P Stabback (30)	Waverley	1968-69
8 <sup>1H</sup>	133*	B Clemow (71*) & J Warn (58*)`	University of NSW	2002-03
9 <sup>1H</sup>	223	C Woods (135) & A Freeman (112*)	St George	1899-1900
10 <sup>1H</sup>	91	C Hughes (69*) & G Holmes (18)	Campbelltown	1988-89

## 4<sup>™</sup> GRADE

WICKET	RUNS	BATSMEN & THEIR SCORES	OPPONENT	SEASON
1 <sup>S1</sup>	232	P Brenner (139) & J Baker (96)	University of NSW	2004-05
2 <sup>ND</sup>	155	D Abbey (86) & G Dudley (79)	University of NSW	1977-78
3 <sup>RD</sup>	158	J Cox (95) & C M Glassock (73)	Balmain	2002-03
4 <sup>1H</sup>	225	J Baker (151) & A Baker (123)	Sydney University	2006-07
5 <sup>TH</sup>	173	A Ward (114) & G Hill (71*)	Petersham	1973-74
6 <sup>TH</sup>	260	A Parkinson (141) & C Mueller (128)	Hawkesbury	2001-02
7 <sup>™</sup>	142	W Evans (132) & M Ferguson (58)	Randwick-Petersham	2007-08
8 <sup>TH</sup>	151	S Waddington (130*) & S Griffiths (68)	Bankstown	2004-05
9 <sup>TH</sup>	114*	J Pitt (67*) & W Hawkins (50*)	North Sydney	1935-36
10 <sup>TH</sup>	85	R Woodford (59) & B Murray (42)	North Sydney	1967-68

#### 5<sup>th</sup> GRADE

WICKET	RUNS	BATSMEN & THEIR SCORES	OPPONENT	SEASON
1 <sup>51</sup>	120	D Schimek (34) & L Anderson (64)	Fairfield-Liverpool	2009-10
2 <sup>ND</sup>	74	J Rawlings (23) & P Hartig Franc (50)	North Sydney	2008-09
3 <sup>RD</sup>	150*	D Tabrett (53*) & L Weston (100*)	Bankstown	2007-08
4 <sup>TH</sup>	166	M Butcher (92) & M Pugh (113)	Eastern Suburbs	2009-10
5 <sup>TH</sup>	97	L Grant (43) & A Fraser (100*)	University of NSW	2008-09
6 <sup>TH</sup>	81	P Hartig Franc (52) & J Badyari (47*)	Sutherland	2008-09
7 <sup>1H</sup>	56	L Grant (78) & L Anderson (31)	Parramatta	2008-09
8 <sup>1H</sup>	82	L Grant (78) & J Badyari (51)	Parramatta	2008-09
9 <sup>1H</sup>	73	A. Virdi (37) & J Boyer (36)	Cambelltown-Camden	2010-11
10 <sup>1H</sup>	54	N McCallum-Toomey (46) & C Kinghorne (14*)	Hawkesbury	2008-09

# A Quest for the perfect weekend getaway.

The superbly appointed property features a combination of studio, one and two bedroom serviced apartments with fully equipped kitchen (kitchenettes in studios) and laundry facilities, separate living and dining areas, many with harbour views. Guests can enjoy complimentary undercover parking, gym, sauna and on-site restaurants.

Ideally located right behind Manly Wharf, you will not find a better accommodation alternative in Manly.

Quest Grande Esplanade - your perfect travel companion.

#### **Quest Grande Esplanade Manly** - Call 02 9976 4600

54A West Esplanade Manly NSW 2095 www.questgrandeesplanade.com.au

The Quest Serviced Apartment Group – over 120 properties throughout Australia, New Zealand & Fiji.



## MWDCC CAREER GRADE RECORDS OF CURRENT PLAYERS

Player	Inn	NO	100s	50s	HS	Runs	Ave.	Catches	0	Μ	R	W	Ave
Alexander. M	36	10	0	0	25*	297	11.43	6	493.2	105	1385	72	19.24
Alexander. R	151	14	5	26	122*	4175	30.48	9*	1	0	5	1	5.00
Anderson. L	25	1	0	3	64	567	23.63	13	55.5	7	176	8	22.00
Ashe. C	7	4	0	0	18	44	14.67	3	144.1	23	521	31	16.81
Badyari. J	34	8	0	1	51	610	23.47	18	254.2	55	1061	44	24.12
Baker. A	94	8	4	15	170*	2822	32.82	26	325.5	92	1374	63	21.81
Baker. J	94	6	1	11	151	2111	23.99	29	528	100	1699	69	24.63
Bird. J	33	15	0	0	21	141	7.84	5*	439.1	96	1458	91	16.03
Bonnor. R	115	8	0	11	97	2181	20.39	31	1558	200	5350	198	27.02
Boss. C	68	14	0	2	61	797	14.76	19	989.2	168	3541	152	23.30
Boyer. J	13	3	0	1	60	191	19.10	25/8St					
Bruce. C	2	1	0	0	32	36	36.00	1					
Burgess. E	47	7	1	3	108*	1200	30.00	18/2St	240.1	56	706	35	20.18
Burgess. M	42	14	0	0	38*	360	12.86	17	446.2	78	1361	62	21.96
Butcher. M	31	3	0	5	96	693	24.75	8	132.5	13	496	28	17.72
Cameron. L	139	16	3	16	132	3236	26.31	59	109	19	409	14	29.21
Cleary. M	147	18	3	11	135*	3051	23.66	54	827.2	132	3186	93	34.26
Cleary. S	149	22	1	5	101	1958	15.42	38	2135.4	341	7592	313	24.26
Cosentino. M	146	15	3	24	145*	3631	27.72	59	261.1	33	1137	45	25.27
Cox. J	182	19	4	19	138	4071	24.98	83/3St	467	83	1649	76	21.70
Cranney. M	254	28	5	28	145	6156	27.24	258/32St	49.5	14	165	13	12.70
Crosthwaite. A	52	3	2	13	200	1718	35.07	85/8St					
Crosthwaite. J	1	0	0	0	26	26	26.00	2					
Cruickshank. T	276	26	11	52	203	7991	31.97	142	22	3	113	2	56.50
Daly. J	4	3	0	0	28	48	48.00	3					
Davis. B	26	4	1	2	212*	614	27.91	5	64	11	313	8	39.13
Edgell. L	115	16	3	13	135	2580	26.06	31	771.4	150	2454	95	25.84
Edwards. M	3	1	0	0	18	10*	9.00	2	44	6	161	7	23.00
Evans. W	283	48	1	15	132	4215	17.94	77	4721.5	1235	12636	629	20.09
Farrell. D	9	3	0	0	39	130	21.67	8	138.3	36	350	34	10.29
Farrell. R	21	5	0	0	48	156	9.75	5	234.2	26	831	30	27.70
Fraser. J	12	2	0	0	22	77	7.70	6					
Gillespie. K	2	0	0	0	3	4	2.00	0					
Grant. L	31	3	0	1	78	477	17.04	13	214.1	43	650	40	16.25

Gummer. A	62	8	0	4	75*	1103	20.43	27/1St	232.3	51	641	33	19.43
Hill. N	59	6	2	11	115	1733	32.70	17	132	15	619	28	22.11
Hodge. R	14	4	0	0	31	111	11.10	7	202.5	36	636	35	18.18
James. S	8	2	0	2	57*	221	36.83	4	4	0	15	0	N/A
Jeffrey. A	69	2	1	12	103	1657	24.74	23	6.1	1	17	0	N/A
Jonkers. W	1	0	0	0	2	2	2.00	1	12.5	4	43	3	14.33
Kaye. T	11	2	0	0	45	168	18.67	1	43	7	125	5	25.00
King. B	184	19	8	27	124	4823	29.23	64	25.1	3	127	6	21.17
Lindsay. A	144	27	2	8	151	2419	20.68	49	2332.2	439	7427	397	18.71
Little. C	190	27	4	23	122	4250	26.08	68	1404.4	298	4447	222	20.04
Lyon. S	46	15	0	0	37	347	11.20	28	282.1	56	883	49	18.02
Mannell. L	39	8	0	0	48	517	16.68	8	529.4	105	1572	66	23.82
Marshall. D	36	12	0	0	18*	234	9.75	11	415.3	86	1382	58	23.83
Mason. J	183	9	2	19	107	4188	24.07	81/1St	71.2	10	266	9	29.56
McLachlan. N	35	18	0	0	34*	130	7.65	14	532.1	105	1657	80	20.72
Mee. M	29	9	0	1	53	294	14.70	9	401.3	74	1334	64	20.85
Merchant. C	89	10	6	11	146	2709	34.30	29	101.5	13	398	24	16.59
Meredith. J	22	1	0	1	76	280	13.34	4	54	13	172	12	14.34
Munting. J	101	36	0	1	72	764	11.76	32	1462	299	4708	222	21.21
O'Keefe.S	20	3	1	3	158	591	34.77	7	210.1	42	647	34	19.03
Parkinson. A	185	21	3	19	141	4103	25.02	63	1684.1	340	5222	222	23.53
Patterson. S	118	13	1	16	101	2625	25.00	37	8.3	0	49	3	16.34
Poole. T	15	1	0	0	45	179	12.79	2	11	0	58	1	58.00
Poskitt. D	38	21	0	0	27	235	13.83	9	561.1	104	1913	89	21.50
Prowse. I	28	5	0	3	94	513	22.31	17	175	25	580	26	22.31
Pugh. M	43	3	1	2	113	809	20.23	24	63	11	180	13	13.85
Rawlings. J	37	2	0	1	58	691	19.75	8	2	0	13	0	N/A
Readett. D	30	1	0	2	81	668	23.04	7	67	12	211	7	30.15
Rehaan. V	103	14	1	7	111	1818	20.43	25	1113.2	225	3261	174	18.75
Ritchie. Jack	113	13	2	9	128	2457	24.57	23	362.1	56	1378	50	27.56
Ritchie. James	16	2	0	2	62	264	18.86	8	55.4	8	219	4	54.75
Stewart. L	66	15	0	5	85	1110	21.77	14	489.4	122	1367	72	18.99
Stinson. B	40	3	0	2	68	582	15.73	35/11St					
Sullivan. J	168	8	2	20	199	4150	25.94	46	1254.4	196	4690	165	28.43
Virdi. A	11	2	0	0	37	129	14.33	4	147.3	37	418	29	14.41
Visser. M	58	13	0	2	87	656	14.58	16	807.3	166	2582	121	21.34
Walter. J	59	7	0	5	80*	1188	22.85	14	114	13	406	17	23.89
Webber. S	21	4	0	0	49	267	15.71	58/10St					
Weston. L	72	8	3	5	133	1602	25.04	37	52	7	212	4	53.00

# MWDCC PLAYERS WHO HAVE SCORED OVER 5000 GRADE RUNS

PLAYER	YEARS	INN	NO	RUNS	HS	100	50	AVERAGE
E Robinson	1938-1966	395	34	9343	137	5	55	25.82
G Hill	1972-1996	337	43	8356	134*	8	29	28.42
R Fry	1982-2005	325	33	8126	159	8	42	27.83
T Cruickshank #	1997-2011	276	26	7991	203	11	52	31.97
B Cook #	1929-1960	345	21	7526	134	6	37	23.23
T Lee #	1954-1977	254	39	7504	127*	15	37	34.90
J Burke ##	1943-1974	227	58	7404	165*	14	42	43.81
B Adrian	1929-1964	411	55	7193	146	4	28	20.21
A Fraser	1978-2009	332	50	7012	183	6	35	24.86
I Howell	1965-1996	293	23	6565	178*	7	27	24.31
S Mesite	1971-1992	313	22	6547	127	7	30	22.50
G Lowe	1906-1937	235	27	6286	210*	10	36	30.22
M Cranney	1992-2011	254	28	6156	145	5	28	27.24
G Flowers	1971-1995	311	22	6059	123	2	27	20.97
S Bradstreet #	1988-2008	219	50	6049	142	8	30	35.79
L Gwynne	1923-1945	241	21	6029	175*	9	29	27.40
C Searle	1921-1943	377	34	5957	110	1	7	17.37
G Beard ##	1966-1986	228	31	5939	187	9	28	30.14
K Turner	1962-1984	323	35	5926	100	1	26	20.57
D Gee	1904-1924	204	4	5904	165	9	24	29.52
J Stewart	1972-1992	243	38	5903	153	4	34	28.80
B Rothwell #	1952-1983	254	65	5851	126	6	25	30.79
V Brown	1939-1957	244	7	5559	136	3	25	23.45
P. Brenner	1990-2006	209	11	5563	202*	9	24	28.09
P Philpott ##	1948-1970	210	35	5535	154	6	33	31.63
K Pitcher	1976-1997	270	33	5518	119*	3	25	23.28
P Marks #	1979-1993	181	21	5503	173*	9	30	34.39
D Frazer	1934-1954	303	28	5349	104	4	22	19.45
B Clemow	1991-2004	157	9	5214	287*	11	29	35.23
D Ford	1984-2000	213	41	5154	138	2	27	29.97
T Blank	1982-1997	210	36	5093	137	2	29	29.27
M Phelps #	1996-2003	129	10	5060	233*	14	23	42.52

## **MWDCC PLAYERS WHO HAVE TAKEN OVER 300 GRADE WICKETS**

PLAYER	YEARS	OVERS	MAIDENS	RUNS	WICKETS	AVERAGE
J Randell	1900-1935	3495.6	293	15188	851	17.84
R Watkins	1942-1967	3100.2	329	11914	696	17.12
T Spencer	1964-1992	3877.1	784	12380	634	19.53
W Evans	1986-2011	4721.5	1235	12636	629	20.09
B Kinsey	1962-1978	2968.5	680	8842	624	14.17
B Adrian	1929-1964	1998.6	70	11347	514	22.07
J McPherson	1969-1988	2845.5	565	9108	506	18.00
P Philpott ##	1948-1970	2241.3	238	9456	499	18.93
M Pawley #	1957-1986	2562.5	527	7611	484	15.73
E Robinson	1938-1966	2627.5	270	10382	483	21.48
K Nichol	1963-1977	2256.1	292	8964	445	20.64
T Brooks #	1944-1965	2237.3	229	9100	438	20.79
M Youell	1990-2005	3191.6	812	8490	421	20.17
S Bradstreet #	1988-2008	3076	826	7212	414	17.42
G Fletcher	1979-1994	2994	797	7356	405	18.16
A Lindsay	1999-2011	2332.2	439	7427	397	18.71
G Evans	1983-2002	3267.2	775	10183	385	26.45
D Hartman	1969-1978	2035	375	6514	384	16.96
R Woodfield	1962-1974	1783.3	346	5560	365	15.23
P Stephenson	1967-1980	1903	302	6984	347	20.12
C Hayman	1932-1946	1202.6	94	5648	337	16.75
I McDonald	1967-1983	1986.2	343	6383	319	20.00
K Waterhouse	1950-1962	1476.2	237	4809	317	15.17
S Cleary	2001-2011	2135.4	341	7592	313	24.26
R Burattini	1989-2001	2319	500	6352	305	20.83
J Heath #	1996-2004	1981.3	449	5671	302	18.78

## Australian Representative

# NSW First Class Representative

# **BEST PERFORMANCES LAST TEN SEASONS**

#### FIRST GRADE

Highest Individual Score	<b>Ben Davis</b>	<b>212*</b>	<b>2010-11</b>
Highest Season Aggregate	Tim Cruickshank	992	2009-10
Highest Season Average	Cameron Merchant	45.70	2007-08
Most Wickets in a Season	Mark Cameron	67	2002-03
Best Bowling Average	Stuart Clark	7.69	2004-05
Most Dismissals by a Wicketkeeper	Mark Atkinson	56 (c52/st4)	2005-06
SECOND GRADE			
Highest Individual Score	Craig Glassock	261	2001-02
Highest Season Aggregate	Ben King	746	2005-06
Highest Season Average	Mitch Cleary	79.20	2006-07
Most Wickets in a Season	Corrie Boss	45	2008-09
Best Bowling Average	Andrew Lamb	13.13	2001-02
Most Dismissals by a Wicketkeeper	Ian Wheeler	32 (c26/st6)	2006-07
THIRD GRADE	<b>Sam Webber</b>	<b>32 (c30/st2)</b>	<b>2010-11</b>
Highest Individual Score	Scott Fitzsimmons	218	2005-06
Highest Season Aggregate	Simon Couch	646	2002-03
Highest Season Average	Luke Cameron	57.25	2006-07
Most Wickets in a Season	Warren Evans	51	2002-03
Best Bowling Average	Andrew Lindsay	7.96	2001-02
Most Dismissals by a Wicketkeeper	Matthew Cranney	30 (c23/st7)	2005-06
FOURTH GRADE	,	× ,	
Highest Individual Score	Simon Spaulding	184	2000-01
Highest Season Aggregate	Simon Couch	607	2003-04
Highest Season Average	Joel Mason	54.30	2006-07
Most Wickets in a Season	Forrester Leahey	37	2001-02
Best Bowling Average	Vinod Rehaan	8.91	2008-09
Most Dismissals by a Wicketkeeper	Josh Petersen	28 (c25/st3)	2001-02
FIFTH GRADE			
Highest Individual Score	Andrew Fraser	183	2003-04
Highest Season Aggregate	Lucas Frazer	375	2005-06
Highest Season Average	Andrew Fraser	60.25	2008-09
Most Wickets in a Season	Andrew Bitmead	37	2006-07
Best Bowling Average	James Munting	8.80	2003-04
Most Dismissals by a Wicketkeeper	Sam Webber	35 (c27/st8)	2009-10
POIDEVIN GRAY SHIELD			
Highest Individual Score	Mark Faraday	129	2003-04
Highest Season Aggregate	Mark Faraday	366	2003-04
Highest Season Average	Mark Faraday	73.20	2003-04
Most Wickets in a Season	Craig Little	17	2000-01
Best Bowling Average	Matt Mee	<b>13.14</b>	<b>2010-11</b>
Most Dismissals by a Wicketkeeper	Sam Webber	<b>12 (c9/st3)</b>	<b>2010-11</b>
A W GREEN SHIELD			
Highest Individual Score Highest Season Aggregate Highest Season Average Most Wickets in a Season Best Bowling Average Most Dismissals by a Wicketkeeper	Jarrod Walter Jarrod Walter Jarrod Walter Reece Hodge Jackson Bird Sam Webber	122 445 49.44 18 9.10 24 (c10/st14)	2006-07 2006-07 2009-10 2009-10 2009-10





MWDCC 3<sup>rd</sup> Grade Premiers 2010/11



MWDCC 5<sup>th</sup> Grade Premiers 2010/11